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HEX DEC || HEX|DECH REXIDEC
1 256 |} 1 161 1
2 5122 321l 2 2
3 7884 3 487 3 3
4 1024 ff 4 64all4 4
5 128015 8015 5
5 1536 || 6 986 6
7 irezity  Jizflv 7
8 204818 |128ls 8
g 2304 19 {14419 9
A 2660fla {180flA (10
B 2816 'B  [176lB {11
C soTziic liszllc iz
B 3328 H D 208D 13
E 3BB4IE  |2243E (14
iy 38400 F j240QF 115
beilangrijke ASCll-waarden in DAlpc
functie/symboo! HEX DEC
back-space 8 8
TAB 9 9
linefeed A 10
clear screen C 12
CURSOR UP 10 16
CURSCR DOWN 11 17
CURSOR LEFT 12 18
CURSOR RIGHT 13 19
space-bar 20 32
@ 30 48
A 41 65
a 61 97
pijltje rechis 89 137
pijitje tinks 88 136
pijltje boven 5E 94
pijltje onder 8C 140
volle blok FF 255
verticale lijn A 10
horizontale lijn B 11
6 hor. lijnen 1D 29
ASCII - HEX - ASCYTY CONVERSION TABLE
mse [ o [ 1 23] aF s |6 ] 7
Lsp 000 | o 010 a1 00 101 110 1%
¢ QOO0 | NUL | DLE s o a 4 . P
1 0001 SOH | b1 H 1 A "} & q
2 0010 STX | DC2 " 2 B R -1 T
3 001 | BTX § Do3 | # 3 c | s e 8
4 D0 | EOT | D04 | F 4 i T 4 %
g 0101 ENG | NAK % 5 E 1] e w
3 G110 ACK | SYN & 6 P ¥ £ v
7 o111 BEL | FTB ¢ T G ¥ & L
8 1000 | BS CAN { 5 B X n x
3 001 | HT B ) 9 I Y i ¥
A 1010 | WP | 5UB * 3 J 1 i 3
8  to1{ vr |BSC! + : £ { k £
¢ 1100 | ¥ | Bg . <1 L |\ 1 |
T 110t { CR | Gs - = M ] n ¥
E 1110 | 80 | B8 . > ¥ $ a o~
P Mt P SI | VS / ? 0§ e a LEL




di4
328
dZ1
325
338
331
d34
J3g
J42
344
a48
51
352
353
61
dbe
3648
371
373
374
J88
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Ik vervolg de verhandeling over de
goniometrische functies maar zal
trachten nu wat minder theoretisch te
zijn en meer praktisch gerichte
toepassingen te laten zien.

Wel moet er eerst nog een klein
beetje thecrie doorgenomen worden.

ik kreeg een aantal reacties dat met
name nog niet duidelijk was hoe je
zowel de sinus van een hoek kon nemen
als de sinus van een getal en hoe dat
dan samenhing,

Theorie

Zoals ik in vorig artikel reeds
beschreef kunnen we de sinus als
volgt zien:

Neem een cirkel met straal ! en laat
een punt gelijkmatig langs de cirkel
bewegen., De afstand van dat punt tot
de horizontale 1ijin door het
middelpunt van de cirkel is dan de
sinus van de hoek alpha. Deze hoek
alpha wordt gevormd door de
horizontale 1iin door het middelpunt
van de cirkel en de verbindingsliin
van het middelpunt van de cirkel en
het langs de cirkel bewegende punt.

Moeilijk ?

Teken voor uzelf een cirkel met een
straal van b,v, 5 cm. Maskt U de
tekening op ruitjespapier met hokjes
van S5mm x 5mm is de straal precies 10
hok jes lang. Noem het middelpunt van
de cirkel M en teken vervolgens een
horizontale 1iin door het middeipunt,
Het punt waar deze middellijn door de
cirkel gaat (aan de rechterkant )
noemen we 5, Kieg op de cirkel een
punt P en teken de 1ijn van M door P.
De hoek die wordt gevormd door de
twee 11jnen die er nu staan noemen we
alpha. Bedenk wel dat we altijd de
hoek bedoelen gemeten vanaf de
horizontale 1ijn tegen de wijzers van
de klok in naar het het andere been.

De sinus van de hoek alpha is nu de
afstand van punt P tot de horizontale
1ijn. Ligt punt P boven de lijn en is
de hoek dus tussen O en 180 graden
hebben we direct de sinus ligt punt P
echter onder de horizontale lijn dan
zetten we er een min (-) voor.

Al de afstanden worden genormaliseerd
d.w.z, in verhouding tot de cirkel

gegeven, Ligt punt P in ons geval 7
hokjes boven de horizontale 1ijn is
de sinus van de bijbehorende hoek
niet 7 {van de hokjes) of 35 (van de
millimeters) of 3,5 {van de
centimeters) maar 0,7.

Om tot deze waarde te komen nemen we
de verhouding van de lengte van de
afstand van P tot de horizontale lijn
en de lengte van de straal van de
cirkel,

Hier dus 7 hokjes / 10 hokjes = 0,7.
Het is met de tekening ook simpel in
te zien dat er twee hoeken tussen 0O
en 180 graden ziin met een sinus van
0,7. Verder kunnen we ook simpel zien
dat een sinus nocit groter dan 1 kan
zijn, En dat de sinus van nul graden
{(punt P ligt dan op S) nul bedraagt.

golvend

Laten we punt P langs de cirkel lopen
zien we dat de sinus begint bij O dan
steeds groter wordt en bij een hoek
van 90 graden 1 geworden is. Dan
neemt de waarde weer af tot hij bij
180 graden O is geworden, verdergaand
langs de cirkelonderkant wordt de
sinuswaarde kleiner en is bij 270
graden -1, vanaf dat punt neemt hij
weer toe (maar biijft negatief want
aan de onderkant) om bij 300 graden
weer op O uit te komen,

Draaien we door (je zou dan kunnen
spreken van een hoek van 450 graden)
herhaalt de hele cyclus zich,

We krijgen dan een golvende beweging
tussen -1 en +1. Deze beweging is in
vele processen die niets met hoeken
te maken hebben terug te vinden.

Denk hierbii maar aan de roklengte,
Men ging dus zoeken naar een vorm

van definitie voor de sinus zonder
het hcekbegrip nodig te hebben,

Getal ipv hoek

De waarde van de sinus wordt ook nu
weer gerelateerd aan de cirkel,

We beginnen bij punt S dus het
snijpunt (rechts) op de horizontale
1ijn door het middelpunt van de
cirkel met de cirkel zelf,

Dan gaan we tegen de wiizers van de
klok in (linksom) de cirkel volgen,
We houden de afstand bij die we
hebben afgelegd met punt P,

De sinus die bij de afstand hoort is
identiek aan de sinus van de hoek
gedefinieerd, dus de afstand van punt
P tot de horizontale 1ijn.
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Daar de definitie icentiek is is het
simpel in te zien dat er ook nu een
golvende beweging tussen -1 en 1 zal
ontstaan. Na welke afstand zal de
cirkel echter een maal gerond zijn ?
0f anders gezegd bij welke afstand
begint de cyclus opnieuw 7

Verhouding

Bij een poging tot schatten van dit
getal komen we al snel tot een waarde
tussen 6 en 7., Nauwkeuriger

benaderen leert ons de waarde 6,28,,
Maar 'de puntjes staan er niet voor
niets de waarde is niet precies 6,28
maar iets meer. Vroeger ging men niet
uit van de straal van de cirkel maar
van zijn middelli jn.

PI

Het getal dat de verhouding van
middelliin en omtrek van een cirkel
aangeeft wordt aangeduid met 1.

Op de DAI zit deze waarde (in
benadering) onder de naam PT,

Vragen we aan de DAT PI krijgen we :

*7PT
3.14159

Om het enigzins nauwkeuriger te
krijgen kunnen we om PI-3 vragen -

*7PT.3
.141593

We krijgen zo nog ee betrouwbare 3
achter de 9. Het proces kunnen we
theoretisch herhalen tot we velen
cijfers van Pl achter het decimaal
teken kennen., De DAL laat ons echter
al snel in de steek :

*7P1-3,1
4.15928E-2

De 2 (achter de 9) is correct maar de
8 is beslist fout,

Menig lezer zal opgevallen zijn dat
ik net een 3 achter de 9 als goed
becordeelde terwijl bij de volgende
benadering een 2 werd gevonden. Beide
zijn hier goed ! Maar lees het a.u.b.
goed het zesde cijfer achter het .
decimaal teken is een 2, daar echter
het zevende cijfer meer dan 5 is
dient Pl afgerond op zes cijfers
achter het decimaal teken als laatste
cijfer een 3 te hebben,

Wat PL precies is kan niemand U in
decimale notatie laten zien daar het
een waarde is die niet zo te
schrijven is. Wel kunnen we P net 2o
nauwkeurig als we wensen decimaal
benaderen. En bedenk als we het op
b.v., 10 cijfers achter het decimaal
teken afronden die afgeronde waarde
minder dan een twintig miljardste
scheelt van de werkelijke waarde,

Voor diegenen die het naukeuriger
willen weten volgt hier PI met wat
meer cijfers dan gebruikelijk is.

3.141592 653589 793238 462643 383279
502884 197169 399375 ... .. ...

Fout

De DAT gaat zoals we zien bij het
zevende c¢ijfer achter de decimaal in
de fout en zelfs met een verschil van
meer dap 2. Pit betekent dat als we
Pl vermenigvuldigen met 5 G00GO0D
(vijf miljoen) de fout meer dan een
bedraagt. Dit socrt verschillen leidt
soms tot rampzalige fouten.

We tonen de fout eerst aan

100 REM TEST NAUWKEURTGHETD PT
110 MODE 0:LIST:PRINT

120 Th=TZ+1

130 PRINT "% TEST No "3TZ;" #kn
140 INPUT "WAARDE VOOR X "X

£50 PRINT

160 PRINT "SIN X ="
170 PRINT SIN(X)

180 PRINT "SIN  X4+2%PT U
190 PRINT STN(X+PI*2,0)

200 PRINT "STIN  ¥+5000000%P1 =":
210 PRINT SIN(X+PT%5E6)

220 PRINT :GOTO 120

De variabele X moet vanzelfsprekend
een floating point variabele zijin,
Tik het gegeven programma in en laat
het lopen. Probeer meerdere waarden
voor X en verbaas U over een tweetal
opmerkelijke zaken.,

1) de waarde van de sinus van X en
van X + 2%PI verschillen soms in
de laatste decimaal bij kleine
waarden van X.

Nemen we de X groot zal het verschil
ock groter worden al is dit niet
altijd zo,.

2) De waarde van de sinus van
X + 5000000*%PT 1ijkt vrijwel
onafhankelijk van de ingevoerde
waarde voor X.

De gegeven waarde voor de sinus zal
vrijwel altijd -1.0, 0.0 of 1.0 zijn!

Nemen we de X echter zodanig dat hij
weer aanzienlijk de totale waarde van
X + 5000000*PT in de buurt van aul
krijgt krijgen we ook weer 'normale'
sinuswaarden. De aldus gevonden
waarden zijn echter totaal
onbetrouwbaar en mogen dus niet als
basis voor beslissingen worden
genomen,

Is het erg 7

Hoe komt deze fout tot stand en
kunnen we hem voorkomen ?

Ik heb de vorige keer reeds uitgelegd
dat de waarden van sinus e.d. worden
berekend door de DAT met behulp van
een zogenaamde reeks.

Fen van de bekendste reeksen waarmee
de sinus berekend kan worden is de
volgende :

3 5 7 9
X X X X

STN(X)=X = oo 4 oo — oo e e =,
31 51 7t 91

De eerste term in deze reeks is ook
1

te schriiven als X gedeeld door 1!,

De reeks zit er dan nog mooier uit

maar aangezien X tof de macht 1

hetzelfde is als X en 1! gelijk is

aan 1 kunnen we ook alleen X zetten.

3
Ter herinnering : ¥ = X x X x X en

4'=1 x 2 x 3 x 4
N.B, :Hier is x als maal bedoeld,
Beki jken we eerst de noemers van de

termen : 3! = § 5! = 120
71 = 5040 91 362880

We zien het werkelijk enorm snel
oplopen en op het eerste gezicht
worden de termen dus snel kleiner
omdat ze door deze getallen worden
gedeeld, Bekijken we echter de teller
zien we dat daar X tot de derde,
vijfde, zevende enz macht wordt

genomen en ook dat neemt voor X'n
boven de 1 snel toe,

kleine X

Is de X klein b.v. kleiner dan een
tiende is de derde macht hiervan al
kleiner dan een duizendste en dat
wordt dan nog gedeeld door zes.,

De derde term in de reeks is kleiner
dan een honderdduizendste gedeeld
door 120 dus kleiner dan een tien
miljoenste deze term beinvloed dan
het zevende cijfer achter het
decimaal teken, :

De reeks behoeft in dit geval slechts
tot de derde term uitgerekend te
worden om al binnen zes cijfers
nauwkeurig te zijn.

rond 1

Bekijken we nu het geval dat X rond
de een ligt. Willen we nu een
nauwkeurigheid tot het zesde cijfer
achter het decimaal teken zal de
noemer groter dan tien miljoen moeten
ziin. Dit is bereikt bij de zesde
term in de reeks (11!) en ook hier
behoeven we dus echt niet zoveel
termen uit te rekenen om de sginus in
de gewenste nauwkeurigheid te
krijgen,

grotere %

Is de X wat groter zo rond de tien
bijvoorbeeld is het simpel in te zien
dat we dan problemen kunnen krijgen
met het uitrekenen van de teller als
we te ver doorgaan in de reeks.

De tiende term heeft teller X tot de
macht 21 en dat kan de DAL al niet
meer aan, 1s de berekeningsvolgerde
efficient dus bv om.en om
vermenigvuldigen en delen met de
factoren uit teller en noemer kan
misschien nog de term uitgerekend
worden maar het probleem wordt alleen
iets verschoven en niet echt
opgelost,

N.B. De termen gaan trouwens altijd
verderop in de reeks kleiner worden.

We zien dus dat het om meerdere
redenen niet erg zinvol is om teveel
termen van zo'n reeks te ontwikkelen.
Ook voor andere reeksen die op de
waarde van de sinus uitkomen gelden
scortgeli jke argumenten.

Maar als de reeks altijd na een

AL 3



beperkt aantal termen wordt
afgebroken zal in sommige gevallen
nog lang niet de juiste waarde
bereikt zijn, Deze juiste waarde kan
echter gezien de nauwkeurigheid
waarin de DAT zelf werkt ook niet
worden bereikt door veel meer termen
te berekenen, Het dilemma van de
ontwerpers van de firmware is
hopeli jk duideli jk.

Men heeft bij DAI duidelijk en
terecht gekozen voor vrijwel perfecte
benaderingen voor de sinuswaarden als
X tussen -10 en +10 zit,

Heeft U berekeningen waarbij U buiten
deze grenzen zit en U heeft wel zo
nauwkeurig mogeliijke sinuswaarden
nedig, kunt U het best deze
sinuswaarden zelf berekenen met een
geschikt algoritme (zoals een reeks-
ontwikkeling) die wel geschikt is
voor de waarden van X die U juist
nodig heeft, ’

Voor erg kleine hoeken (minder dan
0.02) is de sinuswaarde van X vrijwel
gelijk aan X zelf. Zie de gebruikte
reeksontwikkeling waarbij de tweede
term al hooguilt het laatste cijfer
nog iets laat varieren.

Gaan we dit gebruiken voor grafische
toepassingen kunnen onze normen nog
wat ruimer gesteld worden.

Gaan we b,.v. een cirkel tekenen zal
de gebruikte sinus met hoogstens 100
vermenigvuldigd worden. Dit betekent
weer op zijn beurt omdat bij het
plaatsen van een punt toch wordt
afgerond op hele punten dat de waarde
van de gebruikte sinus al in de derde
decimaal fout mag zijn omdat dit na
vermenigvuldiging met 100 toch achter
het decimaal teken komt en die
grafisch niet significant is,

Net niet meer toegestane fout in dit
geval dus 1/100, De X waarbij dit
gebeurt is zo dat X tot de derde
gedeeld door 6 kleiner is dan 1/100,
We berekenen dus de derdemachtswortel

uit 9,06 en komen zo tot ongeveer
0,39,

Een andere manier om uit te vinden
waar deze grens ligt, vooral nuttig
voor die lezers die de wiskunde van
het voorafgaande te lastig vonden, is
volgend programma :

MERMTice BS 3 1

10 INPUT X:PRINT
20 PRINT INT(100%SIN(X)),INT(100%X)
30 PRINT :GOTO 10

En met dit programma spelend zijn we
er snel achter dat bij X is 0,39 nog
dezelfde waarden voor INT(100.0%X) en
INT(100,0°+3IN(X)) gegeven worden.
Deze waarde is overigens 0,38 en niet
zoals verwacht 0,39,

De hoek die bij deze waarde hoort is
0.39 x 180 / PI graden en dat is
ongeveer twee en twintig .en een halve
graad, Met deze wetenschap zou een
cirkel met strasl 100 al voor de
helft zonder grote ingrepen te
tekenen zijn met gebruik van X in
plaats van de sinus van X,

Om de hele cirkel te kunnen tekenen
moeten we of speciale trucs uithalen
of de straal beperken,

We beredeneren als volgt :

De hoek moet 45 graden kunmen zijn.
Dat betekent dat de waarde van X een
kwart PI dus 0,785.. moet zijn.

Wat is het verschil tussen de sinus
van X en X zelf 7 En bij welke straal
is dit verschil groter dan 17

Dit blijkt bij berekening iets meer
dan zes te zijn maar onderstaand
programma laat zien dat Lot en met
straal 10 er nog geen problemen zijn
omdat we niet echt afronden,

10 INPUT R:PRINT

20 PRINT INT(SIN(O,785)*R),
30 PRINT INT(O,785%R)

40 PRINT :GOTO 10

Aanr U de eer om met deze kennis nu
een slim cirkelalgoritme te maken dat
bruikbaar is voor het tekenen van
kleine (straal<=10) cirkels,

Frank H., Druijff
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CLEAR S12:DIM BW(7.@),VH{B.@),
B$(7.0) :KL=21
ID=1@: W=f1H=015P=7:Y1=0
BOTO 699
BOTO 1e9s
COLORT © 14 © H:Hi=1
PRINT CHR${12);:CURSDR @,3:PRINT
"INVDER VAN DE BINAIRE
BEGEVENS. ... "
CURSDR ©,2:PRINT "VOFR DE WAARDE
'@’ of *1* IN VAN BIT”
W=256: DW=0: X$=""
FOR TELLER=7 TO @ STEP -1
POKE %75,32:CURSOR 38, 2:PRINT
SPC (10}
CURSOR 37,2:PRINT TELLER;®™ : "j:
POKE #75,95: INPUT BS$ (TELLER)
IF B$(TELLER)="" THEN 240
IF LEFT${B${TELLER), 1)="-" THEN
246
IF ASC(B${(TELLER)} >49.® THEN 240
BW (TELLER) =VAL {B$ (TELLER))
IF BW(TELLER)<2.9 OR
BW(TELLER) >1.® THEM 249
IF BW(TELLER)=1.6 THEN DW=DW+{/2
W=W/2: X$=X$+B%$ (TELLER)
NEXT TELLER
PRINT CHR$(12);"DE BINAIRE WAARDE
BEDRAAGT: ";X$3" = #"jHEXS (DW)
PRINT "DE DECIMALE WAARDE BEDRAAGT:
DM T my. T

e
450

418

446
430
4468
480
itis
L80
&85
&1
&2

&30

649

GOSUR 2509: RETURN
CURSOR 2, 0:PRINT "NOGHANM S
HERHALEN <3/W> ™3

IF Hi=0.9 THEN PRINT :PRINT "ER IS

NOG GEEN BINAIRE OF DECIMALE
INVOER GEWEEST."

=GETC:z IF G=8 THEN 3Z4

iF 6=74.0 AND HI=8.¢ THEN G0SUB
2500

IF 6=74.2 AND Hi=1.¢ THEN PRINT
CHR%E(12) 5 1 H1=0:50D5UB 299

IF G=74.02 AND Hi=2 THEN PRINT
CHR${12) 5 :HI=0: 505U 20000

IF 5=74.6 AND Hi=3.6 THEN PRINT
CHR$ (12} 3 :Hi=0:505UB 0000

IF =78 THEM W=1:RETURN

5070 470

MODE ©:C0LORT 9 13 @ 9:PRINT
CHR$ (12}

CURSOR 19, 21:PRINT "INTRODUCTIE"
CURSOR 2, 17:PRINT “"DIT PROGRAMMA
GEEFT DE MOBELIJKHEID TOT HET
BESTUDEREN"

PRINT "VAN DE OMNA 006G NAGR
DIGITAN. OMIETTER VOLDENS DE
METHODE"

PRINT "VaM "SUCCESIVE
APPRIVIMATIONT .

PRINT "DEZE METHODE VOLGT EEN




L5060

662

&79

&8¢

£98

Ao

719

729
73g

TEe
1006

ieiw

1929
1938

1249

1950
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PROCEDURE, DIE DE ONALDGE SPANMING
U™

PRINT "BEMADERT DOOR EEN SPONMING
4AM EEN DIGITAAL MAAR ANALOOG-"
FRINT "OMIETTER AN TE BIEDEN EN
DAARNA TE KIJKEN OF DE AANGEBODEN"
PRINT "SPANNING TE HODG DAN WEL TE
LAAG IS, DIT GEBEURT ACHTEREEN-Y
PRINT "VOLBENS, TOTDAT DE SPANNING
i IS5 BEMADERD.™

PRINT :PRINT "VOOR HET WERKELIJIK
LATEN FUMKTIOMEREM VAN DE OMZIETTER"

PRINT “VOLGENS PUNT 7 VAN HET MENU,

DIEMT MEN HET DAI-RWE-REK EN"
PRINT "DE BETREFFENDE INTERFACE
AAM TE SLUITEN OF DE DCE-BUG. "
PRINT PRINT "VEEL SUCCES.®
CURSOR 36,CURY:PRINT "(L) 83
Jd.Jd.H. van Ool."

GOSUR 17006

MODE 2:PRINT CHRS$(12):COLORT 9 15
Q Z:CO0L0REG © 192 1 14

FOR CU=23 7O 31 STEP Z:POKE

#0304 2xCU+204886, $FF s NEXT

CURSOR 23,26:PRINT "M E M U":PRINT
PRIMT "Algemesn symbool
A/D-omzetter {1>"

PRIMT "Schema van de
A/Domzetter... {23

PRINT

104G
1679
128¢
1999
1655
jtee
129
i21e
1220
1223
1238
124
1243
1250
12682
1399
2009
2019

2029

r WP s

CAR-algoritmR.cscccnanonsaans <3
PRINT "Binaire invoer van
gegevens.. <43

PRINT "Decimale invoer wvan
gegevens. “9-°"

PRINT "Tekenen van de

grafiek....... {637

PRINT "DAI-REL aet
A/D-Interface.... <73

PRIMNT "Stoppen aet het
Programma. ... 87

PRINT 2PRINT *"Maak Uws keuze <1 t/m
Breesans "3

INPUT K$:PRINT
IF K$="" THEN 1109

IF LEFT$(K%,1}="-" THEN 1106

IF ASC(KS$)>57.0 THEN 1100

IF VAL (K$)<1 OR VAL (K$)>B THEN 1109
A=VAL (K$)

PRINT CHR$(12};

ON A GOSUB 9009, 25000, 2000, 200,
20000, 9450, 30000, 1300

60T 1900

MODE @:PRINT CHR$(12):POKE #75,95:
END

REM S4R-ALGORITHE

WODE 6:E0LORG @ 13 3 14:Y1=358:z
GOSUE 15009

KL=21:605U8 45090:DRAN 1465,14@ 145,

PAGE 3

20730
2840
2059
2068

2045
2079
2g8e
2085

2098

2895
2i9¢

2118
2120

213¢

2149
2145
2159
2140
2179

2200
2219
2279
2249
2309

2318

2529
2330
2549
2550

25409

—  ADC CONVERTOR

115 L :608UE &500

GOSUR 5770

SP=7:DF=0:; LL=23

AF="A D CY":1¥X=148: v=242: 505U 16600
AS="INITIATIE": X=135: ¥Y=225: GOSUB
19909

AS="R=5 T=8":¥=214:GUSUE 10008
AF="0UTPUT" 1 X=145: Y=195: 605UE 190020
AS="5=000000p9" : BOSUR 7113

AF="7"1 X=1462:Y=166:505U8 10298:Y=
142:605U8 10008
AF="Udar<{Ux": X=143: Y=155: 806UE
10000 ‘

gGOSUB 7125:608UR 7175

A%="HERSTEL BIT":X=242:Y=132:60SUB
16068

A$="R=000008008" : 5OSUR 7223
8%F="T=T-1 { }":)¥=132:Y=95:605UB
19006

AF=" 1 X=1462: ¥Y=74: 808U 180098 Y=52;
GOSUR 19009

AF="T=@"3 X=1533:¥Y=63: 505UB 10099
GOBUB 73253:6054UB 7375
AS="R=00000000" : GOSUR 7425
AS="ETINDE":; X{=148: ¥=7:GOSUB 10900
A%="5= § OR R":1%=158:¥=123:60OSURB
je0en
AS="R=RESIL_ TAAT " X=5: Y=240: GO5UE
16608

A%="T=TELLER": Y=22¢:(05SUE 10062
A%="S= § A R:Y¥=220:605UR 10209
GOSUB 13609
DH=RND{254.0) +1.2: GOSUR 210601 DH$=
X$:0 I=LEN{STRE(DK))
UX%=MIDS(STRS(DW) , 1,1 3-3) 1 =198 Y=
241:CC=22

AS="Lhe="+UX$+" wV":50SUD 19606
SAR=1728:50R1=8: D=80R1 : GOSUR 21668:
SO0R1s=X%

EL=22: 608518 7000:HWAIT TIME 4¢:
GO5UB To50

TA=8:FF=1

IF T4=8 THEN SOR=S5AR

BW=50R:: 60508 210¢0:50R%$=4%
XB%=MID% (DW%,8-T4,1)

EL=22:605UB 718@:L0=22:A%="5="+
SOR%: GOSUB 7115 UDACS=5TR% (SOR)
L2=L EN(UDACS) : DACS=MID$ (UDACS, 1,
£2-3)
¥=210:¥=186&: CC=22: &%="Udac="+DACH+
" myY  ":G0SUB 10000:605UB 13006

Kl =22:B06UB 7156:IF XB%="1" THEN
CO=22: 608U 7173

IF XB$="@" THEN CC=22:608UB 7125:
G05UB 7390

GOSUB 13609

EOSUR 7250 XC4=MID$ (BDR%,5-74, 1}
IF XC%=XB% THEN A%="R="+S0R$:L0=21:
GOSUB 7225:80R1=580R

IF %< >XB$ THEN A%="R="+00R1%:CC=

PAGE 24

2588

2599
2699
2619
2630
2639

2708

2719

L 2TEn

2739

2748

2899

2862

2879

2908
2950

2970
2980
293¢
000

£5048
4310
5328
6538
4540
6359
6569
&570
L5860
&390
5692
6770

£799
7O

7856

7100

7115
1235

7138

7159

el BS -1

- (DD CONVERTOR

272:60SUB 7225: SOR$=50R1$: SOR=G0R!
T4=T4~1:AS=MID$ (STRS(T4), 1,11 ¥=
183: Y=94:CC=22: GOSUB 10000

IF T4=0 THEN 2900

KL=22: CC=22:BOSUB 73%0:60SUB 732
GOSUB 1399¢

GOSUB 7200

SAR=SAR/2: IW=5AR: BOSUE 71000: SARS=
X3

X=15: ¥=135: CC=22: A$="R="+S0R%:
GOSUB 12609

Y=125: A$="G="+5AR$: GOSUB 10809
DRAM 15,124 85,124 23
SOR13$=50R$:S50R=SAR I0R SOR:DW=SOR:
BOSUB 21006: SOR$=X$

Y=112: CC=23: A%="5="+G0R$ : GOSUB
10000: BOSUB 4770:G0SUB 13090
KL=21:CC=23: GOSUR 7125:G0SUB 7175:
BOSUB 7325

(L=21:G0SUB 4770:80SUB 6549: GOSUB
5550

GOTO 2410

REM

KL=22:CC=22:605UB 7350:G05UB 7375:
BOSUE 7400

A$="R="+DW$:G0SUB 7425:GOSUB 13909
GOSUB 7450

BOSUB 13090

FF=0: RETURN

REM STROOMSCHEMA

GOSUR 7908:REM BLOK 1

BOSUB 795¢:REM BLOK 2

GOSUR 7100:REM BLODK 3

BOSUB 7159:RETURN:REM RUIY 1

GOSUE 720@:REM BLOK 44 '

GOSUE 7206:REM BLOK 4B

BGUOSUE 730@:REM BLOK 4C

GOSUR 7350:REM RUIT 2

BOSUR 7406 REM BLOK 5

GOGUE 7459: RETURMN: REM BLOK &

DRAW 59,159 52,219 KL :DRAW 5,219
165,219 KL

RETURN

EM=165:Y2=240: =44:B=14: GOSUR Bood:
DRAW XM, 249 XM, 2350 KL:RETURM
XM=153: Y2=215:1 =HG: B=20: GO5SUD 8006
DRARW XM, 215 XM, 203 KL:RETURNM
XM=163: Y2=183:1 =86: B=20: GOSUB 8088
RETURN

¥=132:¥=186:6505U8 100¢H: RETURN
AE="NEE" 1 X=2008:¥Y=1562: 3O5UB 12900
DRAW 195,140 200,142 KL

DRAW 288, 140 280, 145 KL:RETURN
DRAW 145,185 165,180 KL:XM=14&5:Y2=
162:1=60:605UB 8102:RETURN

AB="JA" X=167:¥Y=130:G05UB 1¢990:
DRAW 165,140 165,115 KL:RETURN
IM=50:Y2=110:| =89: B=49: GOSUR B9ee:

a2 F



PAGE 23
7225
7259
709
7310
73Ea

T330
7TEG50

7373
74006
7425

Ta58

896
8019
REZE
8930
9840
8109
8119
8179
8139
8156
A506
9000
9610
9220
9236

9249
9258 1

262

927
97280
9294
9300
9310 1
9329

G325
G330

328

-— QDG COWMVERTOR

RETURN

X=132:¥=105: 605U 10992 RETURM
IM=140: Y2=93: L=09: B=20: GOSUB Be&2:
RETURM

IM=209:¥2=136:1.=89: B=13: 60SUE B0ea:

DRAW 289,130 280,129 KL

DRAW 155,170 286,170 KL:DRAW 145,
126 185,115 KL:RETURN

A%="NEE": ¥=115:Y=72:60SUB 1£000:
DRAW 50,79 135,78 KL

DROY 56,79 56,110 KL:RETURN

DRAK 165,95 165,90 KL:XM=165:Y2=70:
L=40:50SUB 8109: RETURN
A$="JA": X=149: Y=47:GOSUB 12000:
DRAW 155,45 165,50 KL:RETURN
¥M=145: Y2=25: L =80: B=20: GOSUB 8000:
RETURN

X=132: Y=30: 60SUB 18000: RETURN
DRAW 165,2¢ 165,25 Ki:iM=165:Y2=5:
L=4@: B=15: G0SUB 800@: RETURN

REM RECHTHOEK

XZ=XM-L/2:REM L%~ ENGTE BY=BREEDTE
DRAW X2,Y2 ¥2+L,Y2 KL:DRAW X2,Y2
X2, Y248 KL :

DRAW ¥2,Y2+B X2+L,Y2+B KL:DRAW X2+
L,Y2+B X2+L,Y2 KL

RETURN

REM RUIT:L %=L ENGTE HOOSTE=2/3
LENGTE

K2=KM—~L /22 KB=UZ+L /2 XE=X 2+ 1 YI=Y 2+
L/3sYa=Y2-L /3

DRAK X2,Y2 X3,Y3 KL:DRAM X2,Y2 X3,
Y4 KL

DRAW X3,Y3 X4,Y2 KL:DRAW X3,Y4 X4,
¥2 KL

RETURN

END

MODE @:PRINT CHR$(12):COLORT ¢ 14
G B

Yo=201 XO=208: KL =21
MODE 68:DF=5:X=120: Y=80:00=23
A$=CHRS (23) : GOSUR 10962:DF=0: Y=140:
X=255: X$="21191101"
FOR T=0 TO 7

DRAW 211,V 250,Y 20:4%=MIDE (X%, T,
1} :¥=Y-5: B05UB 18006: Y=Y+5
Y=¥—-18: NEXT
DRAK 26,156 119,156 23:DRAW 26, 109
119,180 22
DRAM 3€,180 30,80 22:FILL 25,80 35,
85 22
A5="ANALDOB/DIBITARL " : DF=1: X=30: V=
186G: CC=21:8P=7
FOR T=1 Y0 3

BOSUB 10908 X=X+1:Y=Y+1: C0=0C0+1
NEXT
BOSUR 15629

AF="MIETTER " : DF =15 X=11Q: ¥Y=20: ID=

PAGE 96

FAYLY
466
450

380
g3ie

732

P54
550
P68

I57¢
582
579

QL90

P10

=Y
L3
Q64D

L5

97909
g7l

G758

274G
TS0

TEE
QE7R
780
70
899
902

12600
10Gid

19020
foa30

19240
16050
12950

Em i S - 301

I e

[y

—— ARC CONVERTOR

101 FF=1:1FC=1:0C=22: GOSUR 10090: FF=0
AF="Un " K=E0 Y=155: DF=8: C0=2352
GO5UB 19669
GOSLIE 12006
RETURM
COLORT @ 14 & 2:PRINT "HET
PROGHAMMA VERVOLET MET DE LOATSTE
INVOER"
MODE &6A:805UB 15900
X9=30:¥0=28:T=25
DRAKW X8-1,.Y9-1 X@+BxT,Y0-1 Z23:DRAW
Xe—1,¥90-1 Xo-1,Ye+200 23
Y=o+ 75T ¥=YR-15:CC=23:A%=" 1";
GORUB 19980
VH(8.3i=Yg
VH{7.8)=128
IF BE(7.9=1.9 AND BH{&.8)=1.0
THEN VH(7.0)=9&
i=Ye KL=21
FOR TEL=7 T4 & S5TEP -1
IF BW{(TFL)}=9.8 THEN KL=22:FILL ¥i,
VYHI{B. 2} Xi+T,VH{B. 8 +VHITEL) Ki:
VHIS. 2)=VH{B.8) : KL =21
IF Bu{TELy=1.6 THENM FILL Xi,
VHIB.8) XI1+T,.VHE. 9 +VH{TEL) ¥L:
VH(B. € =VH{B. 8} +VHR(TEL)
IF TEL»®.9 THEN VHITEL-i.@)=
VHITELY /2.8
Ki=X1+7
NEXT
SP=7 e X=X0—-15:¥=VH{B. 9 18,9 L0=23:
f%="t": GOSLB 10888
DRAW X6,VH{B.2) X8+BsT,VYH(8.8) 23:
COLORG @ 16 1 14
AF="BUCCESIVE APROYIMATIONY
OF=0:5P=8;: {={@~1:¥=5:CC=22:FF=1:FC=
1:GO5UE 19909;:FF=0
A=Xae T/ 3 V=VHB. 2435, 9 CO=23 Fi=t
Fr=1:8pP=7
IF VHiB.2) >188.9 THEM Y=
yH{B.8}-15.0
FOR TELLEER=7 TO & STEP -1
AS=MIDS (STRS (BW(TELLER}}, 1,1}
GOSUE 19089
X=X+7T
MEXT
FF=@: PRINT
SO5UE 488
GOSUR 12698
RETHRM

REM SUBROUTINE FGT

POKE #2F2,% MOD 256:POKE #2F3,
X/256:POKE $32F4,Y

POKE #2F5,SP1POKE $2F5, ID
C=FCH##49400 : FoFF #4800+ PE #4404+ TR 5420+
VERH10+DF : POKE #2F9,C:POKE #2F1,F
LALLM #300,4%

RETURN

IF W=1.9 THEN 17248

FABE @7

12829

12830
12640
12859
13889

izeie
13¢70

1Z830
15989

1591

15929

1595@

isieg
22000
20019

208050

29119
20120
28149
20159
20160

2eige
281949
20558

20368

20389
20400

20426
20458
28600
21000
213269
21248
21262
21289

21588
21348
21359

25890
25019
25070

P et kot

-—  &DC CONVERTOR

CURSOR ©,9:PRINT "DRUK OF DE
SPATIERALK OM VERDER TE GAAN. . "%
G=GETC: IF G432 THEN 12632

W= PFRINT CHRS (12}

BETURM

A$="DRUK SPATIEBALK":X=5:¥=5:CC=23:

FC=@:FF=1:50SUB 10229

G=GETC: IF §<:32 THEM i3ele

Ak=" »z ¥=5: ¥=0: GOSUEB

16900

RETLURN

DRAW 246, 185+Y1 276, 204+Y1 23:DRAM

269, 185+Y1 270, 1661Y1 23

DRAW Z72,204+Y1 275,194+Y1 23:DRAW

279, 166+Y1 273,176+Y1 23

A3="CHR,.MYS": X=2790:¥=188+Y1:8P=8:

CC=322:DF=0: 608U 10090

A%="ALHMELD" : X=280: Y=170+Y1: BOSUB

16008

Yi=G:RETURH

COLORT @ 14 6 @u:H1=2

PRINT CHR%(12);:CURSOR &,3:PRINT

"DECIMALE INVOEHR VAN DE

INGANGSSPANNTING Ux...."

CURSOR @, 2:PRINT "Ux MOET EEN

FOSITIEF GEHEEL GETAL Z1JM.

U255 mV. s

INPUT 6%

IF G="" THEM 2011@

IF LEFT${G%, 1)="~" THEM 2011¢

IF ASC(G$)>57.9 THEM 20119

IF VAL(G$)<0.9 DR VAL(G%)>255.0

THEN 28116

PRINT * m¥.":DW=VAL {G%)

GOsUR Zieod

PRINT CHR${12};"DE DECIMALE WAARDE

BEDRAAGT: “iDWi" mV."

PRINT "DE BINAIRE WOARDE VAN "iDW;

"oay = "3AE5T = BUSHEXS(DW)

FOR TELLER=2 T4 7
BR{TELLER)=VAL (MID® (X%, 7-TELLER,
i¥}

HEXT

GOSUE 25920

RETURM

M=VARPTR (DW)

P=PEEK (M+3) 2 X3="" ‘

FOR T=7 70 & STEP —§ '

B=F IAND (2™{(T+1}}

K=B SHR T:5T$="9":IF K=1.¢ THEN
5Tg="1"

E5=X%45T7%

MEXT
RETURN

REM SCHEMA A/D-OMIETTER

MODE &O:COLORT @ 14 & 9
A%="SUCCESIVE APPROXINATION
METHODE" : X=F@:Y=180: DF=0¢: L{=¥3: 5=
7:G05UB 1ead9:GOSUR 15800

25058
25060

25492

25109
23119
2512
251%¢ 1
25149
25159
25168
25172
25182
25198

2200

25560

23319

23328

2533
2HAG0
30009

30010

309208
ZO0H0
36999
01060
30119
a912e
38130
32149
ZB159
30149
2200
9219
30228
3023

39249
6252
I9255
I026S

3265

=i BS -3 1

——  ADL COMVERTOR

AE=CHRE (24) 1 X=16G: Y=100: DF=3:0C=21:
GOGUE 10008
FILL 18,20 49,160 22:8A%="5 A R":FF=
1:FC=@s YF=1: X=50: Y=30;: DF=2:CC=23;
GOSUB 19099
FF=9:VF=0
K=1p0: ¥=S0: DF=1: CO=22: A%=CHR$ (13} 2
GOSUR 190001 DRAW 41,65 99,65 23
A3=CHES {20) 1 X=200: ¥Y=560: DF=3: 2F=1:
CO=77:5OSUB 19990: IF=0:DF=2
DRAW 41,32 160,32 X
Y¥=145
FOR T=1 70 8
DRAW &1,Y 79,Y 23:¥=Y-35
MEXT
DRAW 169,139 226,130 23
DRAW 220,130 226,32 23
DRAW 200,52 228,52 23
DRAW 200,12 258,12 23
A% " X=262: ¥=10:1CC=21: GDSUR
10569
O6%="COMPARATOR" : SP=7: X=150: Y=465:CL=
22:G0SUR 19900:A%="+" 1 X=185: ¥=430:
CC=21:GOSUR 10092
PRIMT CHR${(12)::PRINT "SCHEMA
A/D-COMNVERTOR.
PRINT "S46H = Succesive
Approximation Register.”
PRINT "De SAR-FUNCTIE kan ook
software-mnatig worden
gerealiseerd.”
GOsUR 12699
RETURN
SP1=0:COLORY @ 14 € O:REM
SUBRCUTINE DAI-RMC-1/0
OUT #A3,421:REM INIT POORT #A0=
INPUT EN #A1=0UTPUT
A=0: B=#89: C=#0: D=8:1 HI1=3
f=0 IOR B
C=A
UT #A1,A
I=INP (8A0) IANT #Ee
IF I=0 THEN 3872090
f=B
f={-A) :Al=VARFTR {A) : A=PEEK {A1+3) -1
=0 IAND ©
=
A=B
A=H GHRE 1
B=A
f=C
D=D-1
IF D<»@.0 THEM 36008
At=R/100.0
IF 8Pi=1.9 THEN PORE #75,32:80T0
0285
CURSOR o, Z:PRINT "IMVOER VIA
DAI-RYC MET A/D-IMTERFACE.™
PRINT °DE SPANNIMG Ux BEDRAAGT: "3
Algt V.

bG el = |
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Resds serder is er geschreven over de stoorgeveoelig-
hedd van het reset circult van de DAL

De ene DAl reageert sneller op storingen van bulitern-

at darn de andere.

Mig 15 dan ook al verschillende malen de vicaayg gestelds
"mis midn keoelkast aankomt slaat miin DA&I op tilt,

wab most ik daar aan dosn'.

Bij gebruikers van de Commodore 1541 Floppy (lnmiddels
gen aardiq aantal) kombt degre klacht wat vaker voor.

Dit zit echter niet in het door ons ontwikkelde systeem
maar verooedelli ik in de totale lengte van de gebruikte
kabels.

HMet resel signaal gaat n.l.vanaf de DCE Bus via de flat-
abel maar de interface en vandaar via de afgeschermde
floppy kabel naar de drive.

Hoewsl de 1341 voorzien is van een netfilter en kan wordsn
aangesloten op een kontaktdoos voorzien van gen randaarde
is een verhoogde stoorgevoeligheid met alle nare gevolgen
vandien niet wit te slulten.

Een oplossing is misschien kortere hkabels,gebrull maken
van gern andere geaarde kontaktdoos en als dat nist helipt
misschien een bBleing verandering in Lk DAT.

Dere verandering bestaat uit het aanbrengen van een con-
densator van 1 uF/Z35V over de "REBETY naar aarde.

De condensator s z2o0'n kleine rode of blauwe tantasloon-
densator zoals gr zovelen in de DALD zitten.

Waar moet hij komen,nu dat is esnvoudig.

Open Uw DRAI (alle kabels eraf natuwwrlijk en helt kabeltlie
van het metaal rondom het tostsenbord los gemaakt).

U ziet dan recht van het toetsenbord viak bii de BREAK
topst een printbaantje van onder het toetsenbord met

gen boog omhong gaan en stoppen bij een boorgat.

HMigrin komt de + zijde van de condensator. Links van

dit boorgat komt sen dikkers printhaan van gen blobkjes
(il mid is het blaww) dit is esen weerstandsblokie

boven het tostsenbord en stopt ook in een bhoorgat links
van de serste. HMierin komt de - zijde van de condensator.
U omoet NIET het boorgat hebben walt erboven =it of de
printhasn a&an de rand van de DAT want dat is +Svolt,

De tekening helpt U verdesr,

Dere wijziging is ook witgevoerd vanaf trev. 7.1 door
INDATA.

Tl hmoop dat hiermgde het probleem is opgelost.

Mo R son

FgEmE PR T T

Werkt U ook al jaren met sen TV aan Uw DAL en bent U
dan ook wel sens jalosrs op die mensen die zo'n mooi
plaatje op hun REE monitor hebben,

Nu de REER monitoren met een medium resolutie goedkoper
worden is de aanschat het overwegen waard.

Maar het is wel oppassen met het geen U koopt.

Wat meestal niet bekend is is dat er twee soorten RGR
monitors bestaan n.l. met gen analoge en een digitale
REE ingang. De laatste worden vaak [EM compatible ge-
noemnd.

Het verschil tussen beide is het vologende:

1o Een analoge REE monitor ontvangt een dristal
analoge signalen welke varisren in spanning.
Hiermede ziin een groot aantal klewen variaties mogeliik
afhankelld lk van de amplitude van de aangeboden signalen.
e Een digitale RER monitor ontvangt een drietal
digitale signalen van TTL niveau wat wil zeggen of +5 volt
of O volt,
MHigrdoor is het aantal kleuwren bheperkt htobt het aantal data
bits waarover de processor beschikt bij de DAL maximaal 8.
De DAL kan normaal 14 kleuren leveren sn een digitale
monitor is dan ook niet direkt geschikt voor de DOI.

Tevens mosten de mepeste digitale ROE monitoren 2 syno.
signalen ontvangen n.l. horizontale en verticale syno.
De analoge monitor heett genoeg aan composite sync.
dit is een combinatie van beliden.

De DAL REB interface kaart is van het analoge type en
levert behalve analoge REE een composite synoc. signaal
@an een audio signaal.

Wil men dus een REE monitor aansluiten dan moet men dus
aan DAL ROE interface kaart kopen en deze op de plaats
van de normale Video kaart monteren tenzilj men een

sol dearbout pakt en zeltd sen REBE kaart bouwt.

Voor de zelfbouwers volot dan ook epen schema met ROM
inhoud voor sen REE kaart.

De gegevens in de ROM ziin niet geliik aan de origi-
nale ROM maar geven een betere kleuren weergave.

De werking is als volgh:

De signalern KO,E1,K2,en EZ worden gebruikt voor de kleu-
ren gensratie. Met deze 4 bits zijn 146 adres combinsties
mogeli k.

Deze 146 combinaties ziin geprogrammeerd in een ROM van

het Lype NB2BLI2Z en staan als 8 bits aan de ulitgang ter
beschikking als het signaal VLB welke als een enable werkt
laag gaat,

Deze 8 bits worden dan in z2.g."D'Flipflops geklokt met sen
het signaal CKL.

Pe & witgangen worden in grospen van 3 via verschillsnds
weerstanden aan elkaar geknoopt in sen z.g. summing net-
WO b,

i BS—3 1

HE L



Derw e wordd dan aar de basis van sen bransistor Losg
{ o spanning aftgeeft tussen +5 volt en -5 volt a
van e spanning aan de Dasis.

: groepen vormen dan de Rood, Sroen en Blauw wite
gang nase de. moni o,

Besit men schter sen digitale REE monitor den is deze
Iossing niet mogelil ik,

Trbvoue Frerom bype BE8123

D7 Dé& DS D4 DI DR DL DO HEX  ADR

1 040
(Y ol
A
[
(L
OE
Crés
07
Q8
0y
o1&
R
s
00
O
OF

Bl oaok & S & N & S S ¥ S I
Dk Blue 1 ) A TR & N T O T o B
Forple Red A S o R & N T i i
Mol 0oQ S T R N R |
Furp e e 1 o o o 111
Eagrald Green ©0Q 1 [

Fhaki Breown 0o
Mustard Brown OO
G ay 10
Middlie Elue H
Qrange o
ik 1 1
Light Blus i 1
Light Gresn L
Light Yellow OO
White 1 1

!
01 1
0 O 1
03 oo
1
|
1

£ 0
0O
) 1

et 3
o b b I

Ale wen BEELET senmaal geprogrammescd s oen de klewren
ertaar U miet aan damn kan Bl belass oiet mesr verandertd
worders anomeet L oesen nieuws nemen. '

fan alternatief 1s om e
mee te superisenteren totdat U de klewen die U wer st
hestt gevonden, Deze kan dan inplaats van de BRELIRE ge-
byl Bl worden .,

Mat audico sigaal kunt U direkt afnemen van de connsctor.
et composite syne. signaal wordt via een ermitter-
volager aar de ultgang tosgevosrd,

De signalen zijn terug te vinden op de volgende pin nre.
vat e connsctor mnaar de wvideo prinl

Fin 2 = Gnd.
Fip 3 om -,

Pin 5 o= Gudia,
Fim 7 = KO,

!:I % n 8 4 i{:'."j;“

i 9 = k1.

Fam 10 = KR

Fin 11 = Clk.

o M- S LV

Feim 1E = VLR,

Fir 18 = LDomp. Sync.

De pin nummering bhegint rechts boven {(gexlen vanat het
kevhoard) met de oneven nrs. aan de bovenzllide en de
sven nrs. aan de onderd ide.

De mogeliikbeild om sen digitale monitor aan te sluiten
op de DAl wil ik in een volgends witgave behandelen.
Tevens zal ik dan een vervangingsschems voor een G714
EFROM hierin op nemesn,
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SPL Vi.1 PAGE 1

9002 TITL *x#% CENTRONICS ACK LATCHED Vi.b ###7

Q009 A

oDad H

DG H WRITTEM BY SEORBE CATHUARY 146/19/85

RRH6 H TO UM AN ORIC MOP 40 PRINTER/PLOTTER

9290 H

Gooe 3 THIS DUTPUTS DATA TO THE SCREEN AND A CEMTROMICS

SO0 H PRINTER YIA THE DCE BUS AND USES DOUTC.

B[RO ¥

QP0G H IT IS STORED IN THE EMVELOFE BUFFER, STARTING AT 1F2H.
[GD H DATA GOES TO PORT A, STROBE (HIBH) TO PORT B BIT 7
oope H RESET LATCH {(HIBH) TO PORT B BIT & AND THE ACK SIGNAL
SRao H 15 RECEIVED OW PORT O BIT 4.

So0e 3

SEHY H TO IMITILISE Calid #1Fp. 70D STOP PRINTING POKE #131,1
GO39 H

Qo0g H FROM FWP CALL 1FCH OND THEN CALL IF8H

D00 H

L] H SET UP PODINTERS

o006 [

o000 A=piFg START EQu iFeH

SHR% ORG STARY ALLOWS PROG TO BE MOVED
giFe C3FFrel JHF PRIMIT sWITHOUT CHANGING ENTRY POINT
GLF3 ORSG START+BH

@iFrg C33482 JMF FHINT1 IVECTOR TO PRINTER ONLY PROG
aiFk ORG START+ACH

@1FC C3e9e2 JHP FHUEIT TVECTOR TO FWP PRINT INIT
GiFrF H

Q1FF § T INITILISE BENERAL PRINT PROBRAM

aiFF H :

G1FF (CD2707 PRIMIT CALL PPI s IMITILISE §255 PPI (DCE BUS)
G207 ChizeZ galil DouTe sSET P DOUTD POINTERS

@265 CD2482 Call OuTPUT sOUTPUT VIA DOUTC

gz2e8 LC7 RET

B2e9 H

8287 e INITILISE FWP (ETC) PRINT PRDGCRAM e s
G289 H

289 ES FWPIT PUSH H 1 STORE START ADDR OF MESSAGE
28 CD22e2 oAl PRI s INITILISE 8233 PPI

g2en El PP H iGET START MESSABE ADDRESS
@20E  CDD4DA caLL angban 1PRIMT MESSAGE

211t {9 RET

212 H

g2 H IMITILIBE SUBROUTINES

6212 H

@212 ES DEWITE PUSH H

221% FS PUSH PSK

p214 3ZECS MYI A RL3EH ;8TORE JMP

216 3JF2DDOZ ST 20DH 270

agr19 213202 LYXIH PRINT :PRINT PROG START ADDRESS
Q2IC  22DESZ SHLD Z2DEH ;IN DOUTC

P2IF Fi POF PSH

@276 E1 FOP H

9221 9 RET

@222 H

8222 F3  PPI PUGH PSS

8273 3ZESB MVI A 88H 1 INITILISE 8255 - MODE ¢
9225 326IFE STA SFE@IH ;s A,B & CL = OUT. CH = IN

HEmirs 05 -3 1

5Pl vi.t PABE 2 w4 CENTROMICS ACK LATCHED V1.6 wEx

G228 F1l FOP PSH

Q229 09 RET

B22h 3 emm———

Q2286 F3 OUTPUT  PUSH PSH

gZ2B  3ES3 MVYE A 3H

9220 3E231et 818 1514 SUITPUT WIA DOUTC
2230 F1 POP PS5H

2231 C9 RET

o232 H

@232 : PRINT PROGRAM -

GII2 H

G232 H PRINT ~ GEMDS DATA TO SCREEN AND PRINTER
9252 H PRINTL - SENDS DATA TO PRINTER OWLY

BEI2 H

QLI2 H ENTRY DATA T{ BE SENT IN A

#4232 i

@232 EF PRINT RET D2

9233 83 B 3H ;DISELAY ON SCREEN
@234 FEIF  PRIMTDI CPI 1FH 215 IT A CONTROL?
P235  DO3DE2 L CNTROL 1YES — CHECK IT
@239 [Da9el caLl SEND s SEND TO PRINTER
@23 L9 RET

2230 3

8230 FEGD  CHNTROL CPI onH £18 IT CARRIAGE RETURN?
923F LCL4582 £z ER $YES — SENMD LF TOO
9242 (9 REY M~ THEN RETURM % SEND
D243 3

#24% (Cp4ageZ CR caLl SEMD sSEND CR AND THEN SEND
P24& 3EOHH MVI & aiH :LINEFEED TOO

azag L9 RET

{249 H

p249  I2GOFE SEND 574 SFEQeH $SEND DATA

2240 S PUSH H

2240 FS PUSH PoM

@z4E  2181FE LXI H GFES1H

9231 PUT iy

8231 3646 MVI M &1 POOORAE sRESET ACK LATUH
@255 3680 MUL M 126900398 :5TROBE PRIMTER-DCE BUS DFF!
@255 3400 MYI M PROHSRH0R iRESET STROEE

757 PUT "h"

P25y 23 IN G H

@258 TE AcE MOV A,H sPORT © BIT 4

2759 E&18 aNI ioH 315 LATCH SET 7
f25k CASBESZ2 JZ Otk ;N0 TRY ABAIN
a23E i POP FEY

a25F Eil POF H

e8¢ C9 RET

@241 EMD

=i BS—3 1
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de DAI =

oadat er gesn
in vertikals n
blemen 16 dotjes wvas

We werken in onze voorbe
volgendes klsuren i
{#1} zwart

#i1 donkerhlauw
(#2) purperroze
(#3) rood

{(#%: groenbruin
(#3537 groen

{(#4) bruin

{(#7) purper

{(#B) grijs

(%} lavendelblaus
i#A) oranje

ok
O E0 O LR G R e

ii {#B) rose

12 (#C: hemelshlauw
13 (#D; lichtgrosn
13 {#E! geel

15 (#F) wit

De B dotjes (8 bits? van een zelids
veld kunnen in principe slechts
kieuren aannemen : “foreground® (FE}
#n “background® {(Bb:.

Fer veld van 2 bits (2 dots) voorziet
de computsr sen veldkleurbyie (VEED en
e8n velddatabyie (VDE).

A. Veldklewrbyie (VER)

be VKR geeft de 2 klswren aan die
in zijn wveld van & dots gebruikt
worden.

Bie 2 klsuwren noemen we in het ver-—
_volyg de “foregroundcolour® (FS) en
de “backgroundcolour® (EG).

Stel dat je in een veld van B dots
de klewren wit en donkerblauw ge-
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LIIN 5 .

; £3 ot e VELD 3 -

Foke 2 : 4 E. deld wan iobs {8 bits) kan 1;m sir ig
- . YRR if .

= ca tpch drie kleuren gshrulben  op iy e 20

N - VIR #33 41

ards dat de sersie dotis? in
i1

B = eurd wordiend in Met o 5

i - - N . _ t_ = =Ty £ NS HARFOVE BRI — -
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ge arhitery s o . Voorbeeld 5§ (verbeterds versie vb. 3}
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iy : , FLEUR  #F vening mee  dat
gebruiien  1n esn wveld, moet ;e v |00 0 —mmmommomoee ening ae i
voor zorgen dat jg  esrst het hele We gaan de achisrgrondkieur van veld (1N - a4 drig  klsuren
D5 . . - - : ;e & g — —
veld kisurt in een van de 2 gewensie 7 verder gebruiken in weld 3, zodat X;—l 14 serste kleur 1n
i ; : : : > i C P o o i A .= A s
klpuren (o =luil je de  schermkleur we in dit veld kunnen beschikken W= i L maski, WAL dus
N f - L ST e Ea
#8 uitl. over drie kleuren. VLEUR &7 kisur BG maakt
LIdn I Draw inputs 3 LIJN = R - g dris %REUFEﬁ
XW-1 i4 -t a ;;ii 1; an de FRE poken
aW-w 2R Y Ae-2 1 Wz 15
KIEGR  #7 HLEUR #E =

ELEUR  #3

. Voprbheeld 7 {voorbesld DOKEAD
LTaN 3 CIIN 5 . : T
-1 17 K- 1 2 LIJN 7
Wz 17 Xbi-2 7 XwW-1 1f Poke inputs 1 LIZN 9
KLELR  #F WUEUR  #3 AW VELD 1

KLl #E VKR #EA

L1 z LIJN 5 i . _ i vDE §FF
E;i? 1; Y1 13 Up die manier kan je zelfs gans het i

iw i 1% - =0 ' derde weld afwizselend vullen met ds L TIN g

iy P s " b

AL 7 N % kleu 7 §{7 i #F, LG Z

KLEUR  #F KLEUR  #1 _f euren #7 en #F VELD z

VKB #3S

H -~ -

enz... LN 5 vosrheeld & VDE & F

X—1 21
Foke inputs @ LIJN 4 XW-2 23 N . g LIIN 7
VELD z KLEUR  #F Draw inputs 3 LIJN 8 VELD 3

EW-1 21

- VKR #7F o o JER HIE
VIR #AA Foke inputs 3 LIJN - = VDR 43

i
VELD KLEUR #E

VKB #EZ
ViE R0

el b3

SR i BS-31 amicr BS-—-31 =47
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i
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KFLigE y RO
ne stelregel dis hisr geldt is de
vixlgends @ HEL 18 ©n mﬁﬁE;ljﬂ om it )
:‘:ﬁ“’g‘h 3 e RE 4 O
'—lb{lteﬁd {jE u StE ijﬁt METH EFFEERFERE R F L EF R FHETR
g 2 s s = ¥
in gen veld FB te maken. Etﬁ o - B
REH * FLEURENKONFL IKTE #
Frmmliuit Ehow %
SEESELGL L
AEM 4 FE3 s EPErf s s iss s ER et £55%

0 FDRE $75,3%

£. Wanneer e een bepaside veslklsurige ir o : ) ; o
tiin op het scherm wil tekenen {dik- T PRINT LHR${12):MORE C:COL LORT ©
wiils gebruik makend van de moge- 3” LUREUR 1?5Ln,*mPJT "Fﬁ%%& F DRANEN
1iikheil d em drie kleuren in een veld wl CURSOR 10, 18:PRINT "FOKEN @ inputs
te plaatzen !} is het toch wel goed =2 CURBOR 19, 17:PRINT "DRAMEN @ inp
vooraf de bitnotatis te noteren. (Bij CURSOR 10, 15:PRINT “Ua  tijdens he
f steat bit op 1, bij BE op 03 CURGOR 10, 14:PRINT "POKEN naar O
Hieruit wolgt volgende stelregel CURSOR 10, 13:FRINT "je wvoor LION
- zolang nullen niet onderbroken CURSOR 14, 12:PRINT "is dan |
Yonrbeeld 8 worden door san 1 kan de kieur— = CURGOR 10, 10:PRINT “?$ Lijdens
e e et e s waarde van de nul nisgt gewijzigd 58 CUREOR 10, 9:PRINT ") en veid
warden. ' 55 CURSOR 10,B:PRINT "gesi je voor
Poke inputs @ LIdN i0 ~ gus kan men in een veld na een | &0 CURSOR 10, 7ePRINT 71047
' . VELD 1 slechts =en kleur bij gebruiken. &1 CURBOR 10, 5:FRINT "Om t
ovE sar &2 CURSOR 10,4:FRINT “en
Y BEF Het FILL- =n het DOT- kommands kan 53 CURSOR 10, 3:PRIMT Pyvoor
je  eveneenz gebruiken, als je maar &4 CURSOR 19,2:PRINT “dan
LIdN e rekening wil houden met deze uitleg. 75 CURSOR 15,0:FRINT
YELD 2 T BY=GETC GY=0BFTC: BY=EETE
KR E=E 77 BY=EETC: IF GU4-#20 THEN BOTO 77
vna 51 821 IF PO4="F" THEN S0O5UR 100:G05UE 400:BGTC 1200
g2z 1F ghg="D" THEM GBOSUR 100:GOBLUR 400:60Y0 300
I 10 85 070 45
VELD 2 : _ 100 MODE 2:COLORSG 8 0 O C:COLORT ¢ 14 O QsRODE 1A
B BiF 110 FILL 0,0 XMAX,YMAX
UpE %18 200 FOR L%=0 TO XMAX STEF 8

214 DREA LK,ﬁ L4,17 G
220 DRAN L%, 33 LA, YMAX O
2EG MEXT
200 RETURN
A0 REM #2223 33 45 E5R5 84853 NB4E8%¥
441 REM 2x+  SCHERM CLEAREN #%3
A0 REM #53¥#¥iE£3 S35 EXEERELEE
405 COLORT 0 0 0 O
410 FOR 3€£=3 TH O
/20 CuRsiR o, 50%:
&0 MEET
444 CURSDOR ¢,3

Y 449  RETURN

s GG0 REM #E#552%E3REFEF L%

20 REM #3% DR A W E N #%

02 REM 3 2r4gisssssrssrsss

503 COLORT 0 12 4 0

504 INPUT "LIJM "3L%

505 IF LE<1 OR Li>15 THENM GOSUR 400:50TE 1000

Sid PRINT ® R INPUT "1 i RELY

515 IF ¥W1W=100.0 THEN GOBUB £00:6070 BGG

20 FRINT * B INPUT ®Xi-7 #1XWZZE

oS30 PRINT " e IMPUT "KLEOR "iK

ftat] IF ZWi%-XMex OR XWiZ<0 DR XW2?

SGH0 DE&W XW1A,35-L% XW2E, 335138 KLE

975 IF FHi=1 THEN GOSUR 2000

590 PRIMT

a75a GOTO 500

5TEF
FOR aP0Y=0 7O SH%:PRINT " eNEXT

) OR EW2ERAMAY OR KLEH1S OR ELX<0 THEN Friv=1:8070 375

3«42
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By

350
065
1074

80
1085
1090
1100

e T T L R T TR TR i R o
e

EM ¥ id st r ST 4SR5 55X REES
EM ®esesx VELDKLEURBYTE PEEKEN we®xixs
FEM xzexes VOLDDATS BYTE PEEKEN sezazsx
R s s s n Tt E
0548 4G0:COLDORT ¢ 12 ¢ O
1, 3 PRIMT ¥ VEDR "3

TG0

Y- JH 24 THE2-51 )
PRINT SPO(2-LEM VRS i VEES:
NEXT
CURSOR G, 1 :
FOR I¥=1 TO 9 .
VODs=HEYE (PEEK (4BFEF— (YMAX - J% ) #74-T522 -2
FRINT SPO(Z-LEMiVERS: s VDBEIT *3
MEXT
DURBOR 25, 0 PRINT "2ris>
LY=RETE BY=aETE BE=RETD
BE=GETC: IF G¥{ 420 THEN GOTO &55
GOSUE 400
RETLURN
FEM $E2¥E¥TX4F 45T E4055E
HEM z##3 P O ¥ E N %#24
BEM %8 3AREERLXLLERERERE
COLORT O 11 ¢ o
INPUT "LIJGN "3L
IF L¥<1 OR L%E2i5 THEN BOSUR 400:GOTO 00
FRINT ¢ ! INPUT "YELD "i1VE
IF V<. 0 OR VE:9.0 THEN GOSUDR &00:350TO 1000
PRINT ¢ Y12 INFUT PELEURBYTE “;eEBEL

PRINT * T IMPUT pATARYTE Y3 DBE
F
i

IH HE]
a

[ ww
T
(I
ol
o
s
e
L
e
s

L OOOR EBLAHEF OR DBECG.C DR DREUGAFE THEN FiMi=1:80

£
]
ik
s
P
f

Fuq beni T

I

L4
BEEF—IYMAX I #24-V0$E-2
1

Y

Mi=1 THEN BOSUR 2000

1050

PRINT » EEEE
RETURN
SOTE 9999

FOUTIZVE INPUT EEEET

This is the set of new symbols for FGT to be used with the program
ADC-convertor. Other programs using this symbols will be pubiished
in following issues. You can enter the data in DAl-monitor with

the SUBSTITUE-command.

5 1 3 & = & 7 =
. -, - - FE i L.
S I R | e g "

Gt
s
-
AT
el
Ty
fanlle
Bz
i1
L]
Pet

ek

r'i_:ﬂ

M

e s
ol 18 B

L.
=T
ok
sy

|

BeRs
QFRG
GoRs
@egCe
BHhA
DS
GRFe
GIAT5IE]
&h16
B2E
BOEA
Bo46
S5
EEATaYE
GRTH
BALe
DR74¢
BOAD
GRABA
BACe
BADe
DRER
GG
EEisTs)
BE1S
BR2a
aR3Ie
@BR4o
BRSH
BRLY
GRS
ARge
apfe
BE&S
QR
SECe

g Fe Fe FF C3 CB Ba CB 29 &9 27

D9 BF 28 Fa Fa FF o8 oF &F FF t 1 E-
T 73R4 X6 X6 8B 7D BC EC 5D TA e L3 730 ol o
4 47 BR BC &0 7D 81 89 48 Fo Fo af BF 8F F .
T 7445 78 4B 78 CT CB bBA LR &2 a6 GoF oF FF nif Ek;{
a7 @n 67 @4 15 S0

@9 108 15 35 14 34 4 49 35 44 44
Be oBF &F FF OF® FF 28 58 28 29 2

88 80 84 BD 8B B9 44 &4 T3 L5 92
@5 08 49 Ba 49 4F 4F BE RO BE 47

11 9 Fo
I o4n 20 EDR
8= 24 4B 5C

S8 08 96 D4

m e O3 -0 o
o)
S

- o . _ - et B | Coe T
AZ AT pas DA B8 OF 9E BE 98 BO BE E® BI BT FI Il £

R A R - BT

BE FB 14 44 35 44 37 44 97 04 @9 FE o8 Fo
Fe FE 70 7E 80 BE o8 96 99 9E @0 F¢ F¢ FE F FE
79 7E 80 BE 99 93 06 9F D¢ Fo OF FF
66 BA &5 66 95 94 BA 9A 00 FO 00 OF
a0 FF 39 &40 30 &7 A7 O 05 E7 C2 C5
@9 oF OF FF Fe FF 03 CB BA CE 00 06
Bo HE 4F BE 88 98 94 99 2D @D &9 Fo
Fé FF 26 46 46 48 4B &8 46 68 &6 B4
A6 AB A6 L& OF 84 7¢ 73 53 93 53 50

FEOUF eF

)
™
o
™

|
11
-n
E]
»L3
.h
ST le

FF F® FF
nE o Fo
4F 44 Be
@F 9F FF

m Mo

[
gmm!-
F“g_g

Ao m s

88 B2 AF 1
47 I7 I5 37 35 05 05 09

& 2 N
@4 g9 L7 #7

le an 76 75 25 C5 23 26 24 Ca L5 L6 Cg C% Ch 1 [E%
26 CA 29 28 78 7F 11 Bh @97 57 T2 S0 B2 a2 &L

SO &0 22 2C 92 A2 AR AL 90 AL A7 F7 12 b @7 37

54 5R DA LA &4 LA B4 G4 58 AD LS AZ B4 94 8T B4
8% 94 Ap A7 AC AF 13 oD 07 47 44 48 44 B4 G4 5
A4 0A S8 RC C 9F S5 92 S5 92 99 72 TR B3I BT B4
T3 B4 14 05 2 2E 28 97 20 97 97 F7 @R 22 eC Z
18 @F a7 7 27 29 29 I8 I/ 44 48 3% 37 5% 59 &A
oh 78 TR BY B7 89 89 94 94 A8 AR BT BT BY BY D
16 &F 786 72 72 92 92 A2 AT A4 99 A4 20 75 Ab

4
=
75
85 A7 I8 AT 7B 73 92 A7 A7 AA 9B AR TR 9B 7B 7D
A
F

-0

= £0bJ e L0 0 B g 3

J

17 11 88 Fo Fo FE g0 oF oF FF oé FF 28 28 20 iD
304D GBS0 4D S0 28 50 A2 02 A2 A7 AT C7 U2 DRI
TDACT D6 18 11 Be Fo o oF oF FF Fg FE o FF
28 2D 2D A0 4D BC 2R 48 48 % 99 o0 DE L& C7 b4
&F Ak A& B7 BT L7 A4 D4 54 FF o0 H0 00 90 @8 08

35 1
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183

114

158

136

52

MODE GaCOLORT 9 14 & £:MODE
HA:COLORE 9 16 14 15
A%E=OHRE (L B8P =101 DF =12 00=T30
A=245:¥=01:608UE 1o09¢
AEmCHRE (B s X170, 6 VgD, &
BOSUE 12099
A3=0HRE (8) 2 Y=115, ¢: GOEUR

1

73

LM
AS=CHRS (11} +CHRS () s K595 v=
45: BUSUB 10006
Y=11%5: G0GUE 1000n
b XmARAAR" X241 Y180
GOSUB 16000
AE=T A" XA Y=120: BOSUR

1 OORe

AE="EY Y49 Yelg: GOSUR 109060
A=t (=000 Y= GOSUR

1 BHOG

A=t X000 Y=172 GOEUR

1 BBaG
Agst-te X=21 %0 Y= 192 GOSUER
LHOnE

DRal 134,68 148,68 21:DRAW
148,60 140,00 21:DRAW 148,
ugo1e7,5e 23

DRAW 94,40 42,69 21:DRAN 24,
132 40,178 21

DRAW 134,130 148, 1% #1:
DROW 148,128 149,148 21
DRAW 142, 148 149,148 71
DR&W 201,158 220,138 21
DREGW 261,60 226,48 21

146
156
1 A8
176

18

174

Pl

106

Rolbioly]
1gels

REp

1830

TEM i BS -1

DROW Z28, 1700 228,185 21
DRAW 206,40 2I8,85 21

DRAW Z26,1e5 244,185 21
DRAW 226,85 244,83 21

DRAW 145,78 149,79 21:DRAM
148,85 148,78 21

DRAW 148,120 159,128 21:
DRald 148,185 148,128 31
DRAW 148,85 125,85 21:0R6AW
126,85 94,183 Z1:DRAK 94,
105 Be, 1085 T1:DRAGW BE, 145
ga, 17%a 21

DRAW 148,105 124,165 21
DRAW 126,105 94,89 21:DRAW
74,85 26,85 21:DRAYW 26,85
o, &8 21

DRAYW 275,95 S69,9% Z1

EEINT CHREE (125

FRINT © EXxCLUSI
EVE ODF-S5C0CHAEEL
IME"

FRINT EMND

REM SUBROUTINE FGT

FOKE #2FZ,% MOD 25&:FOKE
HIFT, X /256 FOKE #2F4,Y

FOKE #2F5,SP:FOKE #2F6, 1D
C=FCH#40+00: F=FF+#80+FF 2440+
IER420HIF R B LODF 1 FORE #2F8,
CiPOKE #2F1,F

CALLM #360,08%

RETURN

Het programma oTATISTIoCHE ANALYSE bestsat uit 4 delen. De
ecrste 5 berekenen het meniddelde van een santal gegevens unet
de standaardafwiiking (of middelbare fout) hiercp. Er wordt
gebruilk semaskt van formules uit de statistiek.

Pe middelbare fout (MF) wordt automatisch afgerond op 1 bedui -
dend cijfer als ze kieiner is dan 0.1, anders tot op 2 cijfers.
Cok het gemiddelde wordt afgerond tot op dezelfde eenheid als
de M7, '

Vb 0.0Z24% wordt 0.02

- VS
0.00455 " 0.005

Toepassen als alle metingen verricht werden met dezelfde precisie
bv. men meet 3 keer de lengte van sen voetbhalterrein en vindt
1007 &, 100.13 m , 100.16 n waarbii de fout op de lastste
decimaal zit.

Het gemiddelde <X> = % - dog. 44 + Aoe, 43 + Aoo. 44 - Aop. 44333...
3

[100.14 _ 100 44313.- 1* + [M00.43 - Lx> 1"+ [Av0i6 ~ G}
3 (3-4)

ME . Z(x;-(x))zlz
NN -]

= 0.0088192...
—3 x = 100.14% 4/- 0.009 m

2° Gewogen gemiddelde 1

Toepagssen op metingen die verricht werden met een verschillende
precisie. De precisie kan veranderen omdat bv. andere meset-
apparatuur werd gebruikt of een andere proefopstelling.
Vb. Er worden 5 verschillende experimenten gedaan om het
alkoholgehalte te bepalen en men vindt 8.7 +/= 0.7
8.65 4/~ 0.05 en 8.8 +/~ 0,3 .
Het is duidelijk dat de nauwkeurigste meting het dichtst
bij het echte gemiddelde gzal liggen.

Gemiddelde (x) :.%ﬁgg = B.66305 ¥ 8.66
é:

net g = {liai MF{ = de foubt op elke afzonderliike
MF;

T3
&

meting

R i BES -3 1

353



Gemiddelde en standaardafwijking van een populatie.
Vb. Men telt het aantal larven van vlinders die per dag

uitkomen.
X dagen l 50 31 32 33 34
=5 aantal l 10 52 17 5 "

Na hoeveel dagen gemiddeld zal er een larve uitkomen met
de standaardafwijking hierop.

& = 293‘ . 31033 2 31.31

% % 3
Standaardafwiiking = S?‘ Eoixt - (Zg:x) - 0.48%
9, -4

Dit 1s het 4° deel van het programma waarmee de best passende
rechte door een aantal punten berekend wordt.
Gebruikte formules voor y=a + bx

b oo m & KV - (Z x){s %)
AR (Z":)z

Iy, - bZx
g =
N
T (] Z ¥ - (Zx;] (s %) (correlatiecoefficient)

\[[mzxf (T ][5yt - {er)z]

Voor meer uitleg hierover verwijs ik naar het artikel "Lineaire
regressie” in Dainamic 30 van Aad de Bruijin.

+ + + + + + + + +

Verberckmoes Fili?

Meidoornlaan. 16

PAGE
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4@
59
1%
7@

8@

12@
119

129
139
140
15@
169
179
189
190

et lo)
219

Z40

250

290

300
319
329

330
340
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LY ¢ B e

STATISTISCHE AWALYSE

TITLE "STATISCHE ANALYSZE®
REW Verberckmoes Filip
GOTO "MAIN
PROCEDURE KOLOM
IF FLAG=® THENW
A=A+1:CRY=CRY-1:CURSOR

5

(&)

111

@, CRY

PRINT A;:CURSB0OR CRX,CRY:

END IF
IF FLAG=1] THEN
KOLM=KOQLM+1
IF KOLM=2 THEXN
KOLM=@: CREX=CRY~5TAP?: (R
A=A+1: CURBOR @,CRY: PRI
ELEE
CREX=CRX+3TAF: CURSOR CR
END IF
HND IF
END PROC
PROCEDURE CORRECTIE CX,CY
E=N: CURZSOR CX,CY: POEE #7
REFPEAT
H=GETC
ON ABS(H-15> GOSUB "UP,
IF H=23 THEN
GOSUE "CORR:
END IF
UNTIL H=59:
CURSCR CRX, CRY: POKE #7535,
END PROC
»ur
1¥ CY<=17 THEW
CY=CY+1:K=K-1-FLAG
CURSOR CX, CY:
END IF
RETURN
N DOVE
I¥ CY»=2 THEN
K=K+1+FLAG: CY¥Y=CY~1
CURBOR CX, OY:
END IF
RETURN
"LEFT
IF CX=5S+3TAF THEN
K=K~-1: CX=CX~-5TAF
CURSOR CX,CY:
END IF
HETURN
"RIGHT
I¥ CX=5% AND FLAG=1 THEN
K=K+1: CX=CX+STAP
CURSOR CX,CY;
END IF
RETURW
"CORERE
CURSOR CX,CY:PRINT SPCBT

Y=CRY-1
NT a;:CURSOR CRY, CRY

X, CRY

5,9

“DOWN, " LEFT,"RIGHT

85

AP-10,;: CURSCR CX,CY

IHPUT MT! {K>:CURSOR CX,CY: RETURN

FROCEDURE WIE
IF FLAG=Q® THEN
FOR I=18 TO 1 STEP -1
CURSOR @, [! PRINT SPC 4
NEXT I:

25+ CURSOR 5, [: PRIET SPC(iz2)

HiESEm i BHS -3 1

e k=B
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R

390
L990
410
42@
4350

A5¢

4060
470
489

490
690
&1
20
530
G40

550

560
o709
680

590
TR

719
Ted

T30
74D
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g
780
Teo
800
819

830
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850
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P a0 s B e B ops B2
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STATIESTIECHE ANALYSE

CRY=19:
END 1IF
I1¥F FLAG=1 THEX
FOR I=18 TO 1 !
CURSCR 9, 1: PRINT SPCi4n
CURS0OR B5+3TAP, [ PRINT SPCETAP-1
NEXT I:
CRYX=8+3TAP: CRY=14;
END IF
END PROC
FPROCEDURE SCROLL
TOP=#BFEF-DA#86
POXKE #84A, TOFP MOD 255
END PROC
PROCEDURE SEFERATE
FOR 1I=1 TO N STEP 2
JaI+1 0 MTL (T =MTH (IO MT2! (Jr»=¥T! (I+1>
BpXT I:
WN=K 2
END PRCC
FUNCTION ROUND! (NUMEER!,UNIT!>
LOCAI AA!,ER,CC,DD
AA! =NUMEER! /UNIT! : BB~ IBT{AAlD
CC=BE+1L
IF CC-AA'>0. 5
BD=1E:
ELSE
DD=CC:
END IF
HFN = DDXUNIT!H:
ENT F¥
PROCEDURE MFROUND
UN! =SEARCHUNIT! (MFi)Y Kl =-LOGT(UN! >
IF UN!>=0.1 THEN

: POKE #8EB, TGP/256

THEN

UN!=UN! /10
MEI=ROUND! (MF!, UN! > : MFTOT$=3TRS (MF! >
ELSE

CMF!=ROUND! (MF!,UN!)>
¥F3=ZTRS (MF! ) MF$=NMIDE (¥MF&,1,1>
I¥ ME$="1" THEX

K!=Kt-2:
BELSE

Kt =K!-1;
END IF
WHe=""""

FOR I=1 TQ K!
MMS=¥ME+" 2"
NEXT
METOTE="0." +MME+MF%
ERD IF
EWD PRGC
PROCEDURE BACK
I¥ FLAG=@ THEN
N=N-1:A=A-1: CRY=CRY+1:
END IF
I¥ FLAG=1 THEN
F=¥-1: KOL¥=KOLM-1:CRY=CRX-STAP:
ENT> IF
ERD PRGC
FUNCTIOY SEARCHUNIT! (NUMBER!)
IF NUMBER!>=1 THEN

; tCURSOR %, I:FRIBT SPCGSTAP-10

DRASIC V2.

FAGE

889
599
oL
D1
Ped

1140
1159

1158

1179
11889
1150
1200
121e
1220

1232
1249
1300

131@
1320
133¢
1340
1356

o
H

)

EAO IR RO I s A

s b

B0 ke D)oo D

[

P ) pes

o

Bt

1

=

1

STATIETIECHE ANALYSE

UNIT! =107 [NT(LOGT {NUKBER! 3
ELSTF WUMBEER! & THEN
UNIT! = 1@  INT(LOGT(FUMBER! +1E-1@>
ELSE
UNIT! =14
ERD IF
FN o= UNIT!
END FHN

FPROCEDURE INVGEER
KOLOM : INPUT HELPSH
IF HELPE="C" THEW
CORERECTIE CRY, CRY: BACK
FELSIF HELFS="E" THEN
QUIT=
ELSE
MTt (W =VAL (HELFS)
END IF
ENTD PROC
FPROCEDURE UVITVOER
PRINT I,
FOR J=@ TGO AR-1
CURBOR 4+8TAP®], CURY: PRINT T3, RES! (I
REXT 2
CURZOR 4+8TAPxJ,CURY: PRINT TS%
END PRGC
TMATH
PRINT CHRS$ (122
CLEAR S@0@.:DIN REE! (5
DIYM MT! (20@>, NTL! (109, MT2! <100
CURS0OR 190, 29:
FOR I=1 TO 4@:
PRINT CHR$ (252,
NEXT 1
CURSOR 18, 18 PRINT "STATISTIECHE ANALYSE!
CURSOR 10, 16:
FOR I=1 TO 49:
PRINT CHRS(ZD

: TE=CHRE (12

REXT I
PRINT PRIET :PRINT :PRINT TAB(1®),"KEUZEMENU
gemiddelde. ... .. 1"
PRINT TAB(Z223; ”Gewagen gemlddelde 1..... 27
PRINT TABGZ2) ;" Gewogen gemiddelde 2..... 3"
PRINT TAB&92>;”Linaaire regressie, ... ... 4"
PRINT TAB(2ZZ2);"Udtleg. ... ... .. .. ... .5
PRINT :FPRINT TABR(10;"UV KEUZE 275
REPEAT
REFEAT

H=GETC:

UNTIL H>48:

UNTIL H<54

ITEM=H-48: PRINT ITEM;:WAIT TIME 30

ON ITEM GOTO 7P&TATG,YGEVWGL, "GEVG2, "LINREE, "UITLEG
PETATG

FLAG=9: CRY=85:CRY=19: 8TAP=123

PRINT CHRS 12y, TAE(l@J'”“TAT;STISCH GEMIDDELDE"
PRINT TAB(1@);"= = = = = = = = = = = =n

PRINT

PRINT » # X d=x—{x> d-2 ”

FOR =@ TC 42:
PRINT CHR$<11:;:
NEXT 1

R i HBSE -3 1
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PAGE STATISTISCHE ANALYSE j; PAGE 5 STATISTISCHE ANALYSE
1360 FOR =4 TO 45 STEP 18 . | ]
1370 1 FOR J=20 TO 1 STEP -1 ;‘ 181G 1 SOMG! =SOMG +GT! : SOMGY! =SOMGX ! +GX 1!
1380 2 CURSOR 1,J:PRINT T%;: : 1820 NEXT 1 _
1 NEXT ; 1830 _ MF!=3QR<1/SOMG!): MP$=STRS (ME! ) : MFROUND
1500 NEXT _' 1840 GEMX! =SOMGX! vSOMG! : UN! =SEARCHEUNIT! (MF!)
14D REPEAT 1859 IF UN!? Z‘f-“#@;l THEN
1 WeN+1 : 1 UN! =UN! /10:
1410 1 INVOER : END IF
1420 1 IF CRY=1 THENX g 1860 GEM! =ROUND! (GE¥X!, UN! )
) WIS : 1870 PRINT :PRINT
1 END IF : 1889 PRINT "X = ";GEM!;” +/- ", MFTOTS
" T T —1. . 1890 PRINT :GOTO "EINDE
tase UﬁTI“ QUIT=L: 2000 "GEWG2 .
N=N=-1 : : FLAG=1; CRX=18: CRY=10: KOLM=1: STAP=13
1440 FOR I=1 TQ N. ? 2010 PRINT CHR®(12); TAB(15);”GEWOGEN GEMIDDELDE 2
1 SOMY ! =80MY ! +MT?! (13 2020 PRINT TAB(1B); ;"= = = = = = = = = = =’
1450 NEXT I. 2R3 PRINT
GEMX: =SOMX! /N 2040 PRINT » # x g g k% gxrx"2"
14560 SCROLL :PRINT CHR$ (12D, . FOR 10 TO 55.
1479 FOR I=1 TO MW i PRINT CHR$:(11); :
1 DIt=MT! <I1)~GEMX!:DD! =DI! *DI! NEXT I
1480 1 RES! ¢@)=MT! {I3:RES! (1)=DI!:RES! (2)>=DD!: AR=3 ~060 FOR =4 TO 57 STEP 15
1490 1 UITVOER . 2070 1 FOR J=2@ TO 1 STEP -1
15¢e 1 SOMDD! =SCMDD! +DD! 2080 2 CURSOR 1,J:PRINT TS;:
1510 NEXT I 1 NEXT
1520 MF! =SQR(SOMDD! / (Wk (W—1) ) : MES=STRS (MF! ) : MFROUND 2050 NEYT
1530 UN! =SEARCHUWIT! (MF! > 2100 REPEAT
1549 1F UN!>=@.1 THEN n N=Nil
1 UR!'=UN! 710 2110 1 INVOER
END IF 2120 1 IF CRY=1 AND KOLM=1 THEN
1550 GEM! =ROUND! (GEMX!, UN!> a Vis
1560 PRINT :PRINT "X = ";GEM!;” +/- ";MFTCT$: PRINT \ 1 END IF
1570 GOTO "EINDE 2130 UNTIL QUIT=1:
1600 *GEWG1 NeN-1
FLAG=1:CRX=18:CRY=1G: KOLM=1: STAP=13 2140 SEPERATE
161@ PRINT CHR${(12); TAB(15),;"GEWOGEN GEMIDDELDE 1" S 150 SCROLL : PRINT CHRS(12);
1620 PRINT TAB(iB);"= = = = = = = = = = =" 2160 FOR I=1 TO NN
163¢ PRINT , . N 217Q 1 GX!=NTL! C(IDAMT2! (1) GXX!=MT2! CIDK(MTL! (1) 2)
1640 PRINT » # x ME g= 1/ME> "2 gk 2180 1 RES! (@)=MT1! (I):RES! ¢(1)=MT2! <(I): RES! (2)=GX!
1650 FOR =@ TO O5: - 2190 1 RES! (3)=GXX!: AR=4
i PRIKRT CHREC(112;: 2200 1 UITYVOER
NEXT I : 221 1 SOMGYX! =SOMGXX! +GXX! : SOMGX! =SOMGX! +GX!
1669 FOR I=4 TG 97 STEP 13 i 2229 1 SOMG! =S0OMG! +MT2! (I
1670 1 FOR J=20 TO 1 STEP ~1 ) 5230 NEXT 1
1680 2 CURSOR 1,J:PRINT T%;: : 2240 TT! =S0MGXX! ~ (SOMGX! ~2) /SONG!
1 NEXT ! 2259 MF!=SQR(TT! 7 (SOMG! -1 ) : MF$=8TRS$ (MF! ) : MFROUND
1630 NEXT : 2260 GEMX! =SOMGX! /SOMG! : UN! =SEARCHUNIT! (MF!)
1700 REPEAT ; 2270 UN!=UN! /10: GEM! =RQUND! <GEMX! , UN! >
1 N=N+1 * 2280 PRINT :PRINT "X = ", GBM!;” +/- " ,¥FTOTS
1719 1 INVOER z 2290 PRINT :GOTO "EINDE
1720 1 IF CRY=1 AND EOLM=1 THEN - 3000 "L INRES
2 WIS - FLAG=1:CRX=16:CRY=19: KOLM=1:STAP=11
1 END IF - 3¢10 PRINT CHR$(12); TAR(15);”LINEAIRE REGRESSIE"
17530 UNTIL QUIT=1: . 3020 PRINT TAB(15);”= = = = = = = = = ="
NoN-1 . 393@ PRINT
174@ SEPERATE | 3040 PRINT » # x y vEX %2 yoe!
1750 SCROLL :PRINT CHRS$(12); = 3OBE FOR I=0 TO S9:
1760 FOR I=1 TO NN . 1 PRINT CHRS$(11);:
177¢ 1 GI'=C¢1/MT2! (1)) "2:GXI1=GI!*MT1! (I . 2060 §§§T114 10 59 STEP 11
— . POy e 1 = o]
1780 1 RES! <@)=NT1! (1) :RES! (1>=MT2! (I): RES! (2)=GI! :g 04 . SOR gese ol SIEE 1L
1790 1 REB! (30=GXI!: AR=4 2080 2 CURSOR I,J:PRINT T%;:
1800 1 UITVOER
- B0 = I It mice BS -3 1 a54
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4019
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4030

41049
4050
4260
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409G
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4120
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4149
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417@
41809
4199
4200
4219
4220
4239
4240
4250
4260
4270
4289
4200
4300
4312
4320
4336
4340
43509
4360
4370
4380
4399
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5210
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5240

850

5060
5079
5280
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STATISTISCHE ANALYSE

NEXT
REXT
REFPEAT
N=N+1
IRVOER
IF CRY=1 AND KQLM=1 THEN
Wis
END IF
UNTIL QUIT=1:
N=N-1
SEPERATE
SCROLL :PRINT CHR$ (12,
FOR I=1 TO NN
XY!=KT1! (IO%MTZ2! (1>
KLP=MTL1! (I "2:YY ! =NT2! (1272

RES! (@)=MT1! (IJ:RES! {(1)=MT2! (1):RES! (Z)=XY!

RESH (35=XX!: RES! {43=YY!: AR=E
UITVOER

SOMX! =S0MX ! +MTL! (I3 BOMY! =SOMY! +MT2! (1>
SOMXY! =S0MXY! +XY) : SOMXX! =SOMY X! +XX!

SOMYY! =80MYY! +YY!
NEXT I
PRIET

RES! (@) =80MX!: RES! (1»=30HMY! : RES! (2>
RES! (3:=80NMX¥! : REE! {4)=80MYY! : AR=5:

UITVOER

TELLER! =NNXxSOMXY! -SOMX! #S0OMY!
NOEMER! =NI#ECOMXX! -S0MX! "2
RICO! =TELLER! /NOEMER!

AX1 = (Z0MY!-RICO! *30OMX! ) /NN
NOEMER1! =NI*ASOMXX! -S0MX! "2
WOE¥ERZ! =NN4S0OMYY! ~-S0OMY! "2

I

CORR! =TELLER! /SQR(NOE¥ER1! *NOEMERZ2! )

5

OMXY!

@

PRINT :PRINT Y = »; Xt + ";RICO!;" ®» XV
PRINT :PRINT "CORRELATIECOEFFICIEKRT = "; CORR!
PRINT

INFPUT “HOEVEEL BEDUIDENDE CIJFERS WENST Ui{”;BD

PRINT :K!=10" (BD-1»

UR!=SEARCHUNIT! (AX!>: UN!=UN! /K!: At =ROUND! (AX!,UN!>

UN! =SEARCHUNIT! (RICO! >: UN! =UN! /X!
RICO!=ROUND! (RICO! , UN!)
UN! =SEARCHURIT! (CORR! >: UN!=UN! /X!
CORR!=ROUED! (CORR! , UN!>

PRINT :PRINT 7Y = ", AX!:;" + ";RICO! ;"
PRINT :PRINT "CORRELATIECOEFFICIENT = "; CORR!

GOTO "EINDE
UITLEG
PRINT CHRE(12),

* XH

PRINT "STATISTISCHE ANALYSE is een programma dat gemiddelden met”

PRIFT "hun standaardafwijking berekent.”
PRINT "Daarnaast kan de kleinste kwadraten rechte berekend

worden. "

PRINT :PRINT 71 Statistisch gemiddelde

aantal”

genmiddelde van een

PRINT TAB(27);"metingen (x) die allen dezelfde”
PRINT TAB<27);"middelbare fout {(MF) hebben.”

PRINT TABZ27);”vb. x=7.01 m; 7.02 m;
PRIRT :PRINT "2 Gewogen gemiddelde 1

aantal”

7.8l

1

gemiddelde van een

FRINT TAB(27);"metingen (x) die verschillends

DEAZIC

PAGE

5119
5129

5139

5140
H15¢
5169
5170
5186
5190
5200
521@

5220
D230
5240
BzDHO

D260

5279
D280
D220
D309
D316
D329
10009

10919
1002¢

10030

19¢40

V2. 2
7 STATIETISCHE ANALYSE

PRINT TARB<27);"middelbare fouten (MF) hebben.’

PRINT TABR27);"vb., 7.Q2 +/~ @.¢1; 7.01 +/- {.05"

PRIFET :PRIET "3 Gewogen gemiddelde Z : gemiddelde van een
aantal"

PRINT TAB(Z7»;"metingen (x) die een aantal”

PRINT TAR(Z7);"keer {(g) voorkomen"

FPRINT TARR27),"vhb. staartlengte nmuizen

FRINT TAB(39>;"16.1 cm komt 19 keer voor”

PRINT TARZ9>;716.2 cm kowmt 20 keer voor®

PRINT TARC(3€3,716.3 ¢m komt 8 keer voor”

INFPUT * DRUK RETURY -->",RETS

FRINT CHR$(12):PRINT "4 Lineaire regressie : opstellen van de
best”

PRINT TAB(23) ;" passende rechte tussen de meetpunten”

FRINT TARBZ2);7X en Y via de methode van de kleincste”

PRINT TABZ23);"kwadraten 4+ de correlatiecosfficient.®

PRINT :PRINT :PRINT TAB(Z@);"VWERKING":PRINT TARB(19);"= = = = ="
PRINT :PRINT "Corrigeren van een voorgaande meting : tik C

[ RETURNI"

PRINT :PRINT "Besturing cursor via de cursortoetsen."”

PRINT :PRINT PL{S8HIFT) + ";CHER$(137>»;" : deze meting verbeteren.”
PRINT :PRINT "E : (zonder RETURK !) einde corrigeren'

FRINT :PRINT "Als alle metingen zijn ingetikt : E [ RETURN].”
FRIHET PRIFT :INPUT "DRUK RETURE --»";FETS

GOTO "MAIYW

"EINDE

PRINT

INPUT "Wilt U meer berekeningen maken (J/N)";ANS

IF ANg="]" THEN

1 MODE @:GOTO "MAIN:

END IF
MGDE @:PRINT CHR&(12)
CURSCR @,2@: PRINT "TOT DE VOLGENDE KEBER.”:END

PABE Bl — BOSSIM

i AFM E4%E5 388 50 SRR R F R R R TS
2 REM =zx [OSEIH vim "84 x¥¥
3 AEM BSOS EErE Attt e S RS N R
4 REH

2 CLEAR 234:MODE 9:PRINT CHR$(12);::

MODE 4:COLORG 8 5 7 @

YH=YMAK /2. 0: PI2'=2, 6%P1/ (XMAX+20.8) :

CC=21:E=XMAX-1.0

zie FOR X=E T0 1.% STEP —2.8:0X'=COS{(X+
10.9)¥PI21)

328 1 YI=3I5+92aCN':Y2=127#0K 1z Xi=X+Y2-Y1

339 1 FILL X,YM-YL X1,YM-YZ CC

4@t FILL E-X,YMEYL E-X1,VM¥Y2 OO

350 CO=p2421-C0: NEXT

9599 5OTH 999

4
e
i

s i S~ 1
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PROGRAMMING THE DAI IN MACHINE AND ASSEMBLY LANGUAGES
by T W Read

Fart 1 — GETYING STARTED

This series of articles is intended for DAI uzers who wish to venture
into the realms of machine code programming. The advantages of machine
code over BASIL really become obvious with long programmes: much quicker
loading from audio cassette and fastsr run times. There are also zome
jobs that can only be done with a machine code programme: for example, a
table later in this article is a copy of the soreen display from the
DAalve Urility LOOK facility. A short machine code programme was written
to transfsr that tables $rom screen to the text buffer of the word
processor used for typing this., BASIC could not be used becaase the
action of switching from Utility to EBasic would clisar the scoreen,
deleting the table before it could be copied.

The starting point is the DAIT=s vorgatile Machine Langoage Utility
Monitor i{zsge DAI Manual pages 106-117) which is used, instead of BASIC,
for entering and displaying machine code instructions. For the presnt,
ornly six gf the Utility commands are needed. They are: Z, initializes +,
fi11l: 5, substitutes D, display: G, guoi and i, lock. Short programmes,
say dp to about 3% lines, can be entered with the 5 command. Longer
programmes need an assembler. In this first article we will manage
witheut an assembler by keeping the programme examples shorit. The
examples introduce a Ffew instructions but  are chiefly aimed at
demonstrating movement ot inftormation within the ML OProOressor.
Subsequent articles will deal with more machine code instructions and
will show how DBAI ROM routines can be used to shorten our machinz code
programmes. Later examples will include subroutines that can be used to
bBuild up a simple machine language word processor o file writer
DF O AW .

it may be helpful to start with a few definitions:

fesembler ... & programme which checks the validity of assembly language
language statements and converts them into maching code.

fessembly language ... a2 programming language that allows the use of
memonics in place of machine code instructions and labels
instead of addresses.

Source Code/Frogramme ... statements/programme written in a higher level
language than machine codei: eg BASIC or assembly language.

Object Code/Programme ... machine language codesprogramme producesed by an
assembler o compiler from source code.

Machine Code/Machine Language Frogramme(MLF} ... instructions/programne
gxprassed in the form they are used by the computer.

Register .... & device for storing datas temporarily.

For programming in either assembly or machine language it ls necessary
to know a little about the microprocessor in the computer. The DAI uses
the 80686A which has 192 registers available to the user: £ have
capacities of 2 bvtes {14 bitsd: the others are of 1 byite {8 bits)
capacity but they can be paired to make Z-byte registers. The ten
registers are:

The l-byte capacity registers:
‘Register A ‘Accumul ator
Flag regizster Holds S flags.

& and Flag paired are called
the Frogramme Status bord (PHH) .

=Ml BSs-3 1

Hegister B General purpose, B and & can be paired.
Register ditto

Register D ditto D and E can be paired.
Register E ditto

Register H ditto H and L can be paired.
Register L ditto '

The 2-byte capacity registers:
PC register Frogramme Counter. It stores the Z-byte address where
the next instruction is to be found.
Stack Fointer. It stores the P-byte address where the
last item placed on the stack resides.

5F register

In assembly language, paired registers adopt the identity of the first
register of the pair, eg: B identifies both register H and register-—pair
BC: the type of instruction used determines whether one register or a
pair is needed. A&lthough registers H and L are classed as general
purpose registers their main use is as a register pair to hold Z-byte
memory addresses, with H holding the high byte of the address and L the
low byte. Data in any register or register-pair can be incremented or
decremented by one, but that is the only arithmetic that can be done in
general puwpose registers: the acrumulator "is used for anything more
complicated, and it is 1in the accumulator that the result of the
arithmetic operation will be found; the result replacing any previous
content.

The Flag register holds 8 bits, but only &5 are flags. The flags are
Carry, Parity, Zero, Sign and Auxiliary carry. They signal conditions
resulting from arithmetical or lopgical operations within the
microprocessor, eg: if the result of a calculation was a negative value
the Sign flag would be set to 1, otherwise it would be @. The bit
number of sach flag is given in the DAI Manual {page 113). Use of flags
will be covered in FPart 2.

Microprocessor operating instructions, often referred to as op codes,
are 8-bit binary codes. The DAI displays and accepts 8 binary digits as
£ hexadecimal characters, and it is these that make up the machine code.
Hex characters may be simple to key intoc a computsr but they are hard to
remember . Therefore they are replaced by mnemonics to sase the task of
writing sowce code. Some machine code instructions are single byte and
are self-sufficient, cthers need single or double-byte immediate
operands. Heres are two examples of each: -~

Hex machine Mrgmonic

code code
{(no operands)

Comments

S8 M DB Move data to register D from
) register B.
ol INR C Increment register C (add it to

the data already in C}.

{1-byte operands)
2E 41 {operand=41) MYI A, 41
£ 17 {operand=17) HADT 17

Put #41 into the accumulator {8).
Add #17 to value in accumulator.

{(Z—byte operands)

Z1 34 12 {operand=34172) LXI H,1234 Load register pair HL with the
menory address #1734,
C3 af 12 {operand=012) JMP 12006 Jump to {Go to) address #17006.

B 3




Mote that operands are in hex and that the bytes in the operands of the
last 2 examples are reversed when tranclated from mnemonic fore to
machine code: the microprocessor wants the low address=s byte of the
operand first, then the high bvte.

The full 80804 instruction set is printed at the end of DAlnaaic 24. For
a comparison of the instructions with their BASIC equivalents see Dave
atherton’™s list in DAInamic 15, and at the same time correct a misprint
there: hex code 172 is shown as LDAX Di it should read 8TAX D.

Now try a simple machine code programne tg put the letters DAl on the
screen. Assembly language mnemonics will be used for writing the souwre
code. The mnemonics will then be translated inte machine code by
referring to the DOBaA ipnstrurtion s=et. Place the letters near the
bottom of the screen, at say position #Rn4aat {character position 4%, 3
lines up). This will Isave the top of the screen free for demonstrating
the working of the programme. #B4A/1 is a Z2-byte address and theretore
has to be stored in a register pairs HL is t+he most suaitable palr 50 WE
will lpad the address into that, using an LXI instruction. LXI is the
mnemenic for Load eXtended Immediate (extended signifies a register
pairs immediate refers to the data or address that immediately follows
the register identity. See line 1 of Programme 1). Next we will store
the 3 letters D, & and I3 they will be stored =ingly so 1-bvte registers
will be suitable, using MYI (Move Immediate? instructions to load
registers A,B and C. We have to 1oad the hex ASCII code of the reguired
letter, which for D is 443 id& we loaded D the micro—proCessor woril d
accept it as #D which is decimal i3. {(See lines 2,3 and 4}).

When screen address and the letters are in registers the programme has
tn move the letters toc the scoresn: a mbve instruction is again wanted
mut this time not a2 Move lmmediate because the data is already waiting
in registers;: the mnemonic is MY but destination and source of the data
to be moved must be added. The destination is M whirh means the Femory
at the address held in register pair HL. The source is register A. Note
that the mnemonic has the destination before the souwrce: MOV M, A. Line T
puts D on the screen. The next step is to change the address in HL to
indirate the next character position on the screens lines & and 7 do
that by subtracting 2 from HL. Moving letters A and I to the screesn
rould be done by MOV M,B and MOV M,C instructions but a longer method,
moving them to the screen via the accumulator, is used for this
demonstration. Lines 8 and 9 deal with legtter &, lines 18 to 13 with
iletter 1.

Frogramme 1.

Spurce LCode b ject Code Comments
{—bytas~}
{1 2 33
& NOP LaL5 Mo operation. Micropr steps over this.
1 LXI H,B4Al 21 A1 B4 Load reg pair HL with address #B4A1.
(B4 goes into reg H, Al into reg L}
2 O MvI 4,44 3L 44 Move to reg 6 the ASCII code for o7
3 MVI B.41 a5 41 Move to reg B the ASCI1 code for a7
4 MMVI C,49 ot 49 Mave to reg C the ASCII code for i
5 MOV M,A 77 Move the contents of reg & into the
memory addressed by reg pair HL. In
this example the instruction takes
#a4 from & and puts it in #B4Al.
& DX H 2B Decrements the HL register pair. It
7 DCX H 28 is done twice to step over the colour

bvte and on to the next character

BS-31

position of the screen, #B49.

g MOV A,H 78 Move to A the #41 stored in 8

g MOv M, 4 77 Fut into memory location #B49%F the
#41 that im now in r=g A.

i DOX H ZH Step over colouw byte to the

il DCX H 2 next character position.

12 M A, C 77 Move to A the #4% stored in C

13 PHW M.A 77 Pyt #49 into memory $#B4YD

14 WOF (A1) Mo opesration.

IS HLT Fh Stops the milcroprOCessor.

Byte number 1 in the cbject code column is the op code, byltes 2 and 3
are the immediate operands. The line numbers shown arg not needead by the
computer; they are only for our covenience.

Mow the machine code has to be loaded into memory {(RAM) so that it can
be run. We will place it at address #30@ onwardss it could of course be
placed anywhere in the available RAM space. Switch the DAI to its
Machine Language Utility mode f{page 186 of the DAY Manuall!. It is
worthwhile filling an area of memory with noughts before entering a
short programme; there is no technical need for this but it does malke
for easier viewing with the Utility Display facility if byies left from
earlier programmes are cCleared away. Use the Hility command FILL {page
111 of the Manual) as follows:-—
FZoe IFF &

Mow type in the object code programme manually using the Utility command
SUBSTITUTE (page 112 of the #Manuall. Start with 8389 and enter the
chiect code a byte at a time thus:-— oEas o0 21 A1 B4 38 etc, ending
with 74. Then lgave the substitute routine (with cuwrsor left key) and
use the DISPLAY command (p 119 of the Manual}) to check the code entered:

DEee EiF '
The screen display should be the same as this:

aZeo 6o 21 Al B4 3F 44 946 41 ©E 49 77 ZB 2B 78 77 2ZH

GIie PR 79 77 e FH 60 O0 00 08 00 09 20 89 909 00 2o

Initialicse with the Utility command I3 then run the programme Utility
command G388. The letters DAI should appear on the screen and then the
cursor symbol will stop flashing because the HLT instruction at the end
of the programme has stopped the wmicroprocessor. Some means  of
terminating the run is needed, like the END statement in BASIC. HLT 1is
rather drastic inasmuch as it is necessary to use the REGET button to
restore the D&I o normal, but it is a convenient, single byte
instruction. Mow reset the DAI, using thes button, switch back to Utility
and Display with D368 31F again. The machine code programme will still
be there, esven after the reset. That is an advantage which BASIC cannot
matech!. '

Use the Utility LOOK command to see what is happening in the registers
during a run, but first clear the screen and initialise registers and
Veﬁtﬂre. Initialization {(with Z3) is always necessary before the B or L
Utility commands. Switching to BASIC and back again to Utility is an

easy way to clear the screen. The sequence is as follows:-—
B

uT
73
L300 0o 31

e

a ﬁabl? ﬁﬁ&l be displaved {(there is a copy on next pagel. The first
entry "I° on each line is the address of the instruction just executeds

BB S
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P, the programme counter, gives the address of the next instruction: A
to L are the registers and the bytes becide them are their contents. The
Flag (F} and Btack pointer {5} registers can be ignored as they are not
veed in this short programme. The first line shows all the registers at
zerog after the {first instruction. They were so set by the Utility Z3
command and stayed like that because the first machine code was a "ne
operation” (NOF) which fdid nething more than increment the FProgramme
counter register. The secend line shows that the screen address has heen
loaded into the HL pair by LXI H,B4Al. As that was a I-hyvis instruction
the Frogramme counter stepped on % to point to the next instruction at
#3094, A glance down columns H and L shows when the address in HL =
decremented. The ASCII codes for the letters go intn the appropriate
register one after the other. Mote that the various “move’ instructions
enly copy data to the destinationi the original data remains in the
source until it is over—written by a later move oF lpad instruction.
Thus 41 is moved to the accumulator from the B register by the
instruction MOV A,B at #3¢D, yet still remains in B for the rest of the
programnme .

The RESET button has to be used again to restart the DAL.

T=@306 A=06 F=02 b=0¢ C=00 D=00 E=00 H=DO =08 S=FBFE PF=03&1
I=p3Zel A=00 F=02 B=09 C=560 D=00 E=90 H=B4 iL=A1 S5=FBFE F=0304
I=03e4 A=44 F=02 B=0e (C=08 D=00 E=00 H=B4 L=A1 G=FFE F=0385
I=03Z06 A=44 F=02 B=41 (=06 D=0o E=00 H=BR4 L=1 S5=F8FE F=2328
1=03568 A=44 F=902 B=41 C=49 D=9 E=0& H=B4 L=A1 S5=FBFE P=0304
I=036A A=44 F=02 B=41 C=4% D=00 E=00 H=B4 =01 S=FHFE F=939B
1=0380 A=44 F=072 B=41 {((=4% D=0@ E=00 H=R4 L=A8 S5=F8FE P=030C
I=@3Eel A=44 F=962 B=41 [=4% D=90 E=09 H=R4 | =%F S=F8FE F=@3aD
I=230D A=41 F=02 b=41 C=4% D=0@ E=0d H=R4 | =%F G=FBFE F=e3Iob
I=p7eE A=41 F=07 B=41 C=49 D=00 E~=00 H=B4 L=9F S=FHFE F=030F
1=@3nF A=41 F=02 B=41 C=49 D=00 E=00 H=R4 L=%E S=F8FE P=0631%
I=031i9 A=41 F=02 B=41 C=4% D=0 E=00 H=EB4 L=9D S=FBFE P=0311
I=6711 A=49 F=92 B=41 C=49 D=09 E~20 H=R4 L=9D S=FBFE F=0312
1=63i7 A=49 F=92 B=41 (=49 D=906 E=09 H=B4 t=9D S=F8FE P=@313
[=9317% A=4% F=02 B=41 0=49 D=90G E=@@ H=Rp4 L=9D S=FBFE P=0314

The programme can now be altered to demonstrate some @mors machine code
instructions. This time we will add or eubtract wvalues to change the
accumul ator from its original value (447 instead of moving in new
values. Instructions are available to change the value in the
accumulator by adding or subtracting either immediate data or wvalues
already in registers: they are respectively: ADI, H5UI, ADD r and SUB 1,

whers the “r* represents the identity of the redister.
Here are the original and modified programmes:—

Frogrammes 1 Frogramme Z code Programme 2 comment
Source cpde Source b ject
MOP MOF 4
LXI H,B4A1 LXI H,HB4A1 Zi A1 B4
MYI A, 44 MYI A, 44 JE 44
Myi EB,41 MYl B.8 gL BE toad reg B with B
MVT C,49 MOV M. A 77 Move letter D to screen
MOV M, A DCY H 2B Derrement HL reg palv...
DCY H DEX H 208 ...and again
DCYX H sUI 3 D& B3 Subtract 3 from accumulator,
result 41 in accamulator
M A, B NOF it Easy way to delete an unwanted
- instruction from the program.
MOV M.a MOV M. A 7 tetter A to soreen
DUX H DCY H 28

nEX H DCY H 2B

MOy &,C ADD B a2 arid value in reg B to wvalue in
in A, leave result in H.

MOV M, A MOV M,H8 77 tetter I to screen

M MOF 2

HLT HLLT 76

Charige the machine code in memory by using the tility Substitute
command, and the new programme should look like this:

0I00 09 21 Al B4 3E 44 06 o8 77 2B 2B Ds @3 €0 77 ZH

0310 ZB 86 77 o2 74 o0 00 90 00 69 299 00 00 00 00 09

Initialize again and use Utility L399 306 313 to observe the results of
the 4T % and ADD ¥ instructions on the A& register.

Now rewrite the programme to put a space between each letter. Frinting
the spaces can be combined with the move to the next character position,
in a subroutine. That will introduce some more instructions: CALL addr,
for which the machine code is CD plus a Z-byte address, in low byte high
byte order. CALL is like BASICL s GOSUB and it too must fFind a Return
{mnemonic RET, machine code C%) at the end of the subroutine. The label
*GPACE” will identify the subroutine. The other new instructions are
PUSH and POP. FPUSH puts the contents of a register pair on to the DAl’s
Stack. POP takes those same contents from the stack and restores them to
the register pair. The Stack is a block of memory {(#FBeo-—#FGFF in the
pPAI) used by the microprocessor as a temporary store. Data is always
added to the °top’® of the stack, thus the last item PUSHed on is the
first to be FPDPped off. In this programme register 8 will insert the
space, but we need to save the ASCII value it already containss
therefore we PUSH FSW at the start of the SPACE subroutine and FOP FSH
at the end, before retwning to the main programme. The machine codes
are F5 and Fl respectively. We push PSW, not A, because it iz a register
pair that is being preserved.

Programme 3

Sowrce code {bij=ct code Comment
NOP o
L¥I H,B4AlL 21 A1 B4
MYI A, 44 ZE 44
Mvi B,98 @5 g
CALL BPACE Cn 16 83 Call subroutine *5PACE’
Sy 3 D& B3 Yalue in reg & becomes 44-3
ALl sPaCE Ch 146 a3 Frints lestter A+spacs
aDD B g Value in A becomes 4148
CAatl SPACE CD 146 83 Frints letter Itspace
NOF o '
HLT b End of maln programne

Subroutine to print character in reg A, print a space,adjusting reg pair

HL to next character position after each print, then return to main
prrogranme:

SPACE FUSH FSW FS Save rontents of & on Stack
MOV M, A 77 Send letter in reg A to screen
DX H e Step to nexi
DCX ¢ 25 character position
MYI A,20 3k 29 Load & with ASCII space (#29)
MOV M, A 77 and send it to screen
DX H 2B
DCX H 2
POF PSKW Fi Restore & register, from Stack
RET ce Return to main programme

i =y




Here it is 1 memory:
PE00 D 21 Al B4 3E 44 96 98 £D 14 93 D6 @3 CD 16 @3
0Iio 86 CD 14 63 0 76 FS 77 2B 2B 3E 2@ 77 2B 2R F1
ARG CY7 99 &9 9 etc,

The address #3164, of the subroutine, had to be found by counting from
#3660 the number of programme byies already allocated prior to reaching
the label SPACE. It is the address of the first instruction (F3) of the
subroutine. That address was then put in the object code wherever there
was a LAl SPalE.

Use ZZ then L3908 Z00 314 ip examine the main programme and I3 then LIoo
%16 320 to examine the subroutine. Note how the Programme counter
changes on CALLs to and RETwns from the subroutine, also how the Stack
pointer alters with the FUSH and POP.

An ascembler can calculate the address of all subroutines and put them
in the object code at the correct places. It also accepts instructions
in the form MYI °D°, opbviating the need to lock up ASCII codes. It
allows the source programme to be edited, saved on cassette and
converted to object code. Then it enters the object code into RAM at the
correct lpcation. Can you afford to be without such a useful tool? Two
assemblers are listed in the DAlnamic software library catalogue: the
original DNA and the more recent SPL.

In conclusion, a few more notes on the instructions used:

Arithmetic instructions — ADD r, ADI d, SUB r and SUI d, where r and d
are registers or data respectivel y.

Obviously there could be a “carry” from the addition or a "horrow’ with
the subtractions such possibilities will be explored later, with more
arithmetic instructions.

Instructions — DCYX H (decrement value in HL) and LXI H,address {(load HL
with an address, or a 2-byite valuel. :

Similar instructions are availahle for the other register-pairs and
there is alsp an “increment® instruction. Here they are, with their op
codes in brackets:

DX B (488 INX B ({83} X1 B,addr/value (@1 w3 mmd
nex oo {1 INK D (13} LXI D,addr/value {31 xx o=x)
DY H O (2B INX B {23 i.X1I H,addr/value {21 =x wx)
nex SP (3B MY 9P {33} LXI SF,addr. * (31 ¢ Hx)

# The stack pointer points to an address in the Stack. There is no
reason to load it with except another address.

KOMPAKT TEKENING

De bedoeling van het programma is een 2 kleuren tekening op een kompakte
manier in het geheugen te zetten, zodat het als het weggeschreven wordt op
kassette weinig plaats inneemt.

gebruik :

1) tekening wegschrijven ( De tekening staat op het scherm. )
- COLORC 8 X X X  (De achtergrondkleur moet grijs zijn !
-~ NEW  (Er mag zich geen programma in het geheugen bevinden}).

- POKE #29B,0:POKE #29C,#40:NEW (Verplaats de startpositie van de Basic tot

#4000

- Laad het basicprogramma "KOMPAKT" en RUN het. Op het scherm verschijnt een

teller die gaat tot XMAX :; de X waarde van de lijn die nu in het geheugen
gezet wordt. Als dit klaar is wordt de tekening bij wijze van test op het
scherm gezet. Het begin- en eindadres worden afgedrukt.

- De tekening kan nu in UT met die adressen weggeschreven worden.

2) tekening laden

- verplaats de starpositie van de Basic tot voorbij de tekening die je gaat

laden (meestal is verplaatsen tot #2000 voldoende)
- MODE X (zet de juiste mode klaar)
- laad het machinetaalprogramma en de tekening
— CALLM #30C (roep het programma aan)

10 REM :  KOMPAKT-TEKENING 85 - 11 - 08 door Mark Stout
20 REM : gebruik : zie bijgevoegd artikel, opm.: na IMP INT
30 REM :

90 REM routine om de tekening in het geheugen te zetten

100 A=#350:POKE A,0:AL=0:FOR I=0 TO XMAX:FOR J=0 TO YMAX
110 D=SCRN(I,J):IF D8 GOTO 150

120 IF LIJN=O GOTO 160

130  POKE A+(AL*2)+1,X:POKE A+(AL*2)42,J-1

140  AL=AL+1:POKE A,AL:LIJN=0:GOTO 160

150  IF LIJN=O THEN X=J:LIJN=1

160  NEXT J:A=A+{AL*2)+1:LIJN=0:AL=0:POKE A,0:PRINT I

170  NEXT 1:POKE A+l1,#FF

200 REM * Basic routine om de tekening op scherm te zetten
210 COLORG 0 8 15 0:A=#350:1=0

220  B=PEEK(A):IF B=#FF THEN 260

230 A=A+1:IF B=0 GOTO 250

240 FOR J=1 TO B:DRAW I,PEEK(A) I,PEEK(A+1) 22:A=A+2:NEXT J
250 I=I+1:GOT0 220

260  PRINT "De tekening zit van #350 tot #";HEX$(A+1)




0000 @=0350 START EQU 350H

0000 ORG 300H FOGE 21 -~ ALFAMNUMERIEX TOETSEW
838? gg ;ggg ]I; 1606 REM +++ DEMD 2601/6002-05-69 ™ ViI.3/1.1
0302 £S5 PUSE H : iBig REH +++ alfanumeriek tostsenbord
0303 F5 PUSH PSW 1815 REM +++ numeriek toestsenbord
0304 215003 LXI H START 1622 REM +++ DAL
0307 110000 LXT D Ol 1189 PRINT :PRINT "Typ iets in en sluit af met {RETURN: o
0304 TE FOR MOV A,M 1156 FRINT "*escape’ {({—1.":PRINY
030B FEFF CPI OFFi 1200 =5 REM maximaal zantal in te toetsen iekens
030D CA3603 37 END 1390 GOSUR %1013:REM alfanumerisk toetsenbord
0310 23 INX H 1469 PRINT :PRINT "XE="iXE;:IF XE=¢ THEN PRINT " Afgesloten met return”
0311 FEOO CP1 0H 1458 IF XE=(-1)} THEM PRINT * Afgesloten set ’escape™®
0313 CA3203 37 NEXT 1479 IF X8 G070 2708
0316 47 MOV B, A : 15986 PRINT zPRINT “De string is: "iX%
0317 97 SUB A 1560 FOR W=i1 70 288:NEXT #:BEM wachtlus
G318 4F ZLIJN MOV C,A 1798 X=5
0319 €5 PUSH B _ 1808 PRINT :PRINT "Woer sen getal in en sluit af set”
031A 46 MOV B,M 1850 PRINT "<RETURN> of "escape” {({—3)."
031B 23 INX H 1996 ESUR F1912:REM nuseriek tostsenbord
031C 4E MOV C,M 2000 PRINT PRINMT "XE="iXE;:IF XE=0 THEM PRINT " (numerisk + <RETURN:®
031D ES PUSH H 2026 IF XE={-1} THEN PRINT * ({afgesloten met “escape’)”
031E 62 MOV H,D 2840 IF ¥E=1 THEN PRINT * (niet-—numeriek + <RETURN:}"
031F 638 MOV L,E 2190 PRINT :PRINT "De numerieke invosr was 1 "3; X%
0320 D5 PUSE D 2268 FOR W=1 TO Z200:NEXT B
0321 3EOF MVI A OFH 2508 X=-b
0323 EF RST 5 2450 PRINT :PRINT "VYoer iets in en sluit af met {RETURN>.®
0324 21 DR 71H 2566 FOR W=l TO 200:NEXT ¥
0325 DI : POP D 2650 GOT0 1360
0326 E1 ' POP 270 PRINT :PRINT "De alfanumerieke invoer werd onderdruki en was :"3; X3
0327 23 INY 1§ 35600 5O0TO 11692
0328 C1 POP B 1756¢  END
0329 79 MOV A,C
0324 3¢ INR A 20006 REM 27477 nueeriek toetsenbord TLLLZ
032]3 B8 CMP B 20004 GOSUB Zi913: =8
032C CA3203 Jz NEXT 2OneT7 IF Xl=50 GOTO 28612
032F C31803 JIMP ZLIJN Zeen8  FOR XI=1 TO XL
0332 13 NEXT INX D 20009 1 IF MIDS(HS, XI1-1,134"8" BUTO Zeeid
0333 C30A03 JMP FOR 70016 1 IF MIDG(X$,XI~1,1)5"9" GOTD Zoaisd
0336 F1 END - POP PSW 2011 MEXT XI
0337 El POP H 20012  RETURN
0338 D1 POP D 20013 REM niet num
0339 C(C1 FOFP B 20014 IF X¥<»84 BOTO 20017:1F BIDS (K%, {11,135, " BOTD 20817
0334 C9 RET _ 20815 K$=MIDS (X%,9, XI-1)+". " +MID® (X%, XI,LEN{XS) XD
0338 END " 20016  X=1:507T0 20011
20017  YE=1
20918 RETURM
FeH7S  REM YZEZL alfanumeriek toetsenbord LLLLL
20831 Y5=""s XE=0z X =B
0300 €5 D5 ES5 FS 21 50 03 11 00 00 7E FE FF CA 36 03 29837  NI=BETC: XI=BETC: XI=GETC
0310 23 FE 00 CA 32 03 47 97 4F C5 46 23 4E ES5 62 6B 20033 XI=BETC: XIs=UCHR${(XIY:z:IF XI=0 THEN GOTO 20833:REM get key
20034 IF XI=% THEN S0SUB 31687:REM tab=screenprint
0320 D5 3E OF EF 21 D1 E1 23 C1 79 3C B8 Ca 32 03 C3 20035  IF XI=13 AND XL>6 GOTO 20058:REM return
0330 18 03 13 €3 0A 03 F1 E1 D1 C1 C9 20836 IF %I=18 GOT0 200054:REM escape {({~—)
20037 IF ' AI=19 B0V Z20051:REM ——>
20938 IF ¥i=B GOTO 28@¢47:REM char del
20839 IF XIC3Z OR {Ix126 THEW 20037:REM alfanumeriek karakter
2H40 IF XL »=ABS(X) THEN SOSUR 31761:6507T0 20932:REM bel
20941 IF XE=LEM{X%) THEN X$=X4+XI1$:60T0 20943
200482 Ae=HIDS(XF, B, XLIFRTS+MIDG {X$, XL+1  LEN(X$I -¥L-1)
2604% XL=XL+1
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20044 IF ¥>0 THEM PRINT XI%:

2004% G070 20832

o046  REM char del

20247 IF ¥XL=0¢ THEN GOSUB 31701:507T0 29032:REM bel

2048  XL=Xl-1:IF X>8 THEM PRINT XI%;

26049 GOTO 20932

26058  REM —>

20051 IF XKL>=LEM(X$) THEN GOSUB 317€1:507T0 20932:REM bel
2p052  AL=XL+1:1F X>@ THEN PRINT MID®{X$,dL-1,1}:

209535 GOTO 29937

20054 REM ‘escape’

20055  X%="":iL=0:XE=-1

20054  RETURN

20057  REM Trebturn’

20058  IF X9 THEN PRINT SPLOX-KL);

28057  K$=MID$(X$.0,XL)

2p06¢  RETURNM

27905  REM ZAULY attentiesignaal leerkracht ZALLZ

27096 ENVELDPE @ 1S:50UND @ @ 15 @ FRED(400):WAIT TIME 25:S0UMD DOFF
27697  RETURN

31817  GOTO 20606:REM numeriek toetsenbord

31913 GOTO 20031:REM alfanumeriek toetsenbord

31667 RETURN:REM scherm naar printer

31761 GOTD 27864:REM attentiesignaal leerkracht

PAGE 91— PAUZERDUTINE

1980 REM +++ DEMO 0@99-95-68 /7 Vi.l

1019 REM +4++ pauze routins

1620 REM +++ DAL

ited INPUT “Typ wat in en druk daarna op <RETURN> “ifi%
1200 GOSUB 31601:REM scherm schoon

1360 INPUT "Hoeveel seconden wachttijd "jXePRINT :REM pauzetijd in seconden
1496 INPUT "Type weer wat, en druk op {RETURN? v HE PRINT
150¢ 505UB 31962:REM pauze

1600 508UB 31691:REM scherm schoon

1792 PRIMT “ELAAR MET WACHTEM."

1759%  END

26005  REM ZLAAAY SCHERKM SCHOON WLZLAL

260046  PRINT CHRS$(12) 35 :RETURN

299356 REM YWALAL PAUZE ROUTINE ZAZEL

29931 IF X<=¢ OR X»=38 THEM X=1

29032 AT=XxS50:WAIT TIME XT:RETURN

Zi&D1 B0TO 268046:REM scherm schoon

31992  GOTD 29631:REN pauze

m
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PROMSIEAMPMITNG TECHINIOIIES
{from DAlInamic 1%, page 359, abridged)

On this occasion 1 will delve further inte the varipus arithmetical and logical operators of
BASIC, Let us begin with the MQOD operator on which the Manual gives practically no
explanation. If you divide 13 by 2 the result is 4 and the remainder is 1, The MOD operator
will produce the regmainder left after the division of one number by ancther. Here are some
examples as they would be done by a primary school pupil and by a DAI programmeri-

Schoal pupil Programmer
14 divided by 5 = 3 remainder | 16 MODS=1
2% divided by 4 = 3 remainder 2 22MO00 4 =7
36 divided by & = & remainder 0 MODELE=O
87 divided by 10 = 8 remainder 7 g7 MOD 10=7

Here now are some examples of how the MOD operator may be used in programs!
I} Suppose you wish to put the X-value of a screen point into a machine language program.
From MODE T onwards the X-values can he greater than 253 which is the maximum size that
can be put in one byte with a POXE, Therefore the X-value has to be POKEd into two bytes,
The first byte indicates if X is larger than 255 {in which case it is 1) and the other byte shows
how much larger than 235 or 0. The first byte is POKEd with X/236 (yes 2354, not 255) because
the byte is 0 1f X 15 less than 254 or 1 if X is greater than 235, The second byte is POKEd with
X MOD 234, The same result could be achieved byi

POKE I,X/25&3 POKE I-1,X-PEEK(IM4254 or by

IF X255 THEN POKE I,1) X=X-Z5&4! POKE I-1,X
II'  As you know, care has to be taken to avoid a point being off the screen. It is easy to
ensure that with MOD XMAX and MOD YMAX, Type in the followingi-

10 MODE 21 XM=XMAX+1! TMAX=YMAX+]

20 DOT X,Y 218 X=(X+1) MOD XM! Y=(Y+1) MOD YM! GOTO 20
You will have noticed that T did the MOD XM while XM=XMAX+1, This is logical as the
coordinates can best be XMAX and YMAX but the MOD operator gives the greatest possible
result always XM-1, thus here precisely XMAX.
III)  Suppose you want simply and quickly to specify the direction with cursor keys. The ASCII
cades of these keys are 14, 17, 18 and 19, Look at the following program line)

40 ON GETC MOD 4 GOTO £0,70,20
When GETC is 16 we go to the next line (50), when it is 17 to line &0, when 18 to line 70 and
when 19 to line 20, In this way the program will react to other keys but not fall to pieces or
give an error message, All the same there is a major fault in the above but it is associated
with the GETC, not the MO, It would be better to writel

40 H=GETC:!IF H=0GOTO 40 O H MOD 4 GOTO &0,70,80
or 40 ON GETC MOD 5 GOTO £0,70,80,70i GOTO 40

Now for the technical workings of the MOD operator. With 4 MOD B the number A is integer
divided by B. Integer division means that any figures after the decimal point are discarded.
Suppose that the result of the division is 4 Then afterwards A will be reduced by B#3. We can
learn a number of things from this. If we do a MOD 0 we will gat the error report ‘RIVISION
BY ZERO’, We can, if we wish, let B be negative; the results are the same as with B positive.
The ( becomes negative and B#Q therefore positive again. Also A can be negative but here we
get a different answer} the result lies between 0 and -B, assuming that B was positive. This
too is easy to see if we follow the DAI's calculations, If you try to type in PRINT T MOD -3
yau will be surprised to get a SYNTAX ERROR response, in view of my statement above saying
that B could be negative. Well B may be negative but there must be no subtraction, The minus
sign can denote either, depending on the context in which it is used, The solution is to put it
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in brackets thus! PRINT T MOD {~3). MOD is an integer aperator in the DAI but it can also he
used with floating point numbers if an inexact result would be acceptable, Take for example
MOD TPI where TPI=PI+PI=6.28.. The &28 would be fruncated to & by the MOD so the result
will not be exactly right.

Other aoperators such as *# and */‘ generally give few problems, as long as we are working in
floating point, although with integer division there are some things which require explanation
and which are not explained in the Manual, If you type in, after IMPINT, 715/5, ?21/7, ?74/2
yau will get the correct results, but you will find strange answers if you type 713/3, 72275,
77377, This latter is because after division, the remainder has been ignored] the number has
been rounded off, Sometimes this rounding-off can play an unwanted role. If for exarmple I
wanted to draw a number of lines. Drawing from 0,0 to 10,20 and then moving with 2.2 further
to the right, The following program will do the job for 20 linest-

10 MODE 4! REM After IMPFPT

20 FOR X=0 TO &4 STEP 3.2

30 DRAW X,0 X+10,30 22

40 HNEXT
But the DRAW command expecting integers rounds off the floating point numbers, thus making
the space between the lines sometimes 3 and other times 4. Louis Gidney had a clever but
complicated solution for this,
Problems can also arise when comparing A% and B! if A% has been rewritten to a flpating point
number before the comparison is made. Although we can be sure that one is smaller than the
ather, a comparison like that can sometimes give the reversed result, again meraly due to the
rounding off error at the conversion stage, Nico Looije produced this gem |

10 IF INT (2*3)=8 THEN PRINT "It is truly the sama"
‘Raising +., .+ to the power of’ has its own problems. The little arrow-up sign that we use is
an operator that expects a floating point, so any integers will be converted. With AB the B
may be a fraction or negative. The definition; and therefore the caleulation are different from
those learnt in our schooldays. Examples like 22 meaning 2#2#2 and 74 meaning 7#7#7%7 etc
are easy to understand and this new method of writing is useful, particularly when the
exponents are large. We can construct a simple table! 2%4=14, 2°3=8, 7~7=4, 2~1=2 and then
grasp the idea that the next will be 270=1, 2*(~1)=0.5, 2*(-2)=0,25 etc, It may be harder to see
what 2%.5 equals but if we know that 2Z"3#2°5=2"¢ (adding the exponents) it follows that
47:.5%4°5 must equal 4*1 which equals 4, Now the number which must be multiplied by itself to
make 4 is Z, and therefore 4".5=2, the same as SGR4). We can get the cube root this way too!
64™1/31=4 but only after an IMPINT, otherwise we get the answer 1.0 because the integer
division of 1/3 will give the exponent 0. Then £4°0=1, It is not possible to raise a negative
number to a power of anything. eg! (-4)"Z is not acceptable to the DAT but (-3)#(-4) is,

Although the priority order used by the DAI for evaluating the various operators is given in
the Manual {para &.2,2,5) I do not think they can be well known, Programmers are still using
too many brackets in order to ensure correct sequencing, just as in written mathematics. That
of course slows down the running speed, although the udd set may make the listing more sasily
readable. The highest priority level, iel the first operator to be evaluated, is any expression
in brackets. The next priority level is for ‘raising .%o the power of’, The third level contains
three operators! multiplication, division and modulo, As these three are on the same prigrity
level the are evaluated in the order they appear from left to right, as long as none are
bracketad,
227 MOD 3042=24 and 111/3 MOD 10=7 etc,

The fourth level has addition and subtraction. The uperators on Levels lower than this will be
left for a future article,

Frank H Druiijff
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Pyroblems With Primtimo &7 7
(from DAInamic 19, page 363)

Have you ever switched out the printer with POKE #131,1 in order to change something in your
text and incorrectly made the change so that SYNTAX ERROR appeared? Then found that your
clean sheet of paper was spoilt with the same error report, Setting the printer OFF LINE does
not prevent that but switching off its power does, Unfortunately you then lose the commands
like tab and double printing that you have alrpady sent. The problem is caused because the
DAL resets #1231 to 0 when there is an error message. [ briefly outlined this in DAInamic 18,
Every time that anything is to be printed interrupt 5 is performed, If we arrange for this to
make a detour to set #131 we can ensure that the printer only prints when we want it to.

Our routine, to be run on every interrupt 5, is only ten bytes long and can be kept without
problems, in the envelope area. If the start address chosen is #2460 the routine can be inserted
in UTility with the Substitute command and vector 3 can he set to jump to address #240. From
then on you can control the printer at will withi-

Printer on | POKE #240,0

Printer offl POKE #240,1
Here is how to put the routine in its placei-

uT

5240 ISPACE] FS 3E 01 32 31 01 C3 FD 4C [CURSOR LEFT]

VS [SPACEY 2460 [CURSOR LEFTI]
I hope this will give pleasure to many.

Frank B Druijff

TECI — TITE
ifrom DAInamic 19, page 368, abridged)

MXE0-100 WITH GRAFTRAX + TYPE III EPROMS by A de Dauw

Users of the MXB0-100 now have the possibility of using all the functions of both the
GRAFTRAX and the type III printers. You have at your disposal both EPROM sets and can
then have italic and superscript (extra small} characters. GRAFTRAX has an 80 character set
but type TII has a 132 character set, There is a vast saving in screen printing time too!
GRAFTRAX takes 21 minutes to print a 9 grey scale scresn copy but type 111 barely 8 minutes.
All this is made possible by mounting the Type III EPROM set directly above the existing
Graftrax set and soldering the pins of the top set to the pins of the bottom set, except for the
voltage supply pins 12 and 24 on each chip which are gently bent up so that a fine wire can be
soldered to each. The supply is then fed to these pins via a miniature Z-pole, 2-way switch
which tan be mounted at the rear of the printer, This switch enables you to switch from
Graftrax to Type 111 EPROMs as required.

[ Ithink there is an ervor in the diagram on page 36% the wire from the centre tag on the right
hand side of the switch is shown leading to a supply pick—up point on the circuit board. That
point is marked +24v on the diagram but is referred to as +5Sv in the text. If anyone intending
to modify his printer in this way would like a translation of Mr De Dauw's constructional
details please contact me on 0272-4242%0, Bill Read }
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EPROM PFProgramming Equipment for 2714607350
{from DAlnamic 19, pages 3835 and 411)

The programming equipment can be mounted on the wire-wrap field of a universal PC DCE BUS
INTERFACE CARD,; and can thus be used in parallel with a fast cassette and all other likely
DCE cards, It is suitable for both 2K and 4K EPROMS. The program recognises a number of
commands which are input as a single character, sometimes followed by one or more addresses,
On start-up the systemns announces itself with

FROM PROGRAMMER,

WHICH TYFE OF EPROM

(Z716=2 2737=4)
After typing-in a Z or a 4, depending on the EPROM type to be used, the program responds
withi

INSERT EFROM AND TYFE SPACE
Now it is safe to insert the Eprom in the programmer (the green LED iz on) and type Spare. The
system replies with the Prompt and waits for a command. It is normal to check the Eprom to
ensure that it is empty, or properly erased. This is done with the command (T) The program
reads the Eprom (yellow LED on), verifying that every memoary location contains FF. If that
condition is met, up comes the message! READY FOR FROGRAMMING, When that condition is
not found the resultant message is! EPROM NOT EMFPTY,
When you are ready to continue with the actual programming give the command (P} followed by
three hexadecimal addresses each separated by a space (like with the Display command in
Utility), The first address is the start address of the memory area which will be brought into
the Eprom (begin source-buffer)} the second address is the end address of this memory area
lend-address source~buffer); finally the third address is the start address of the data which
is to go into the Eprom. For this, always use the start of a block of 256 bytes {page), While
programming is in progress the red LED glows. When programming is complete the program
tests if it has been faull free and reports! PROGRAMMING DONE followed by sither NO
ERRORS or ERROR AT ADDRESS xxxx , where xxxx denotes the address of the first fault,
it is also possible to read the contents of an Eprom, The command is (R} which fills the memory
area commencing at the hexadecimal address A3D0; with the contents of the Eprom.
The {U) command will give a return to UTILITY,
Eproms may only be inserted or withdrawn from the sockel while the green LED is glowing.

DELETE — how to remove part of &2 Drogyam
{From Dalnamic 19, page £13)

It is often desired to remove a superfluous part of a program or to separate a part of it, Some
BASIC dialects include a special command for this {egi DELETE in TRS 80 Basic) but DAI Basic
does not. However there are a number of ways of deleting something:

1,  Typing-in again the numbers of the lines to he removed. A slow method when used for a
large section of program.
2. Put the section of program to be saved in the Edit buffer! clear the text buffer! copy the
Edit butfer into the text buffer. If for example we wish to save a subroutine which is on lines
1000 to 2000 and cancel the rest of the program, it can be done as follows!

#CLEAR 3000

*EDIT 10G0-2000

LHREAKY ({BREAY>

=3 F T
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*HEW

*POXE 3092
This method is especially suitahle for separating part of a program so that it can be used in
another proegram. It can only be used when the part to be saved is a continuous block of lines,
3. The "Monte Carlo method"! If after pressing RETURHN following the EDIT 1000-2000 you

[ et o By Py 2 B 8 g oy Ry 5 g o oy 0 A A e g ey g B g By o By R B el it By i R oA G A B T AL T TP AT SP o TR ST ST

The time taken obviously corresponds to the number of items but in practice this delay is
generally acceptable, OFf course, to sort thousands of numbers, another method, suited to large
series, is preferable,

very guickly press BREAK twice it is possible for a section of the program between 1000 and 10 o ;
2000 to disappear. The rest can then be removed by method {, This method has support among 70 ggﬁ g??ﬁgﬁg%% idISH ngé; ﬁSI?I
those who like trying to be faster than the computer, that is, folk in the *Games & Strategy" 30 CLEAR 20000 DIM A (755)
rather than the "Serious Programming” category. ~ i aiavi -
4, To eliminate for example lines 70 ~ 120 give (in the command mode)} 23 ggiﬁig Eégﬁéi)f ééjg:}?g\z%% tﬁ)%})s—%ggﬁf?ﬁl}giig? HEXT
HEDIT 70-120i EDITn (where n is an arbitrary number) . 50 PRINT: PRINT! PRINT! PRINT "SORTING IS TAKING PLACEY
Lines 70 to 120 appear on the screen in Edit mode, Then press {BREAK> <SPACEX. Line n 70 N=7%4% REM N=NUMBER OF ITEMS TO BE SORTED e
appears on the screen. Prass CHREAK> (BREAK. | o . 8  E=0! REM SORTING N ITEMS, STARTING FROM A(E)
The methnd seems to work without fail but I cannot explain how. I have tried to include this 20 GOSUB 40000! REM SORTING
trick in a Hasic program but it then does not appear to work in all cases, {with help from Mr 100 PRINT: PRIN’E” FRINT "ITEMS SORTED!" PRINT
Dufour’s program in DAInamic 14, p200), 110 FOR I=0 TO 255! PRINT A(1),} NEXT! PRINT
120 EXD
When you have removed a large part of a program it is advisable to tidy up the symhol table, L0000
as it will still contain the variables from the deleted section of program! L0010 ;}g?gg %ggégiggﬁq ggj .N gog{%ngjgl?g??;f
#*CLEAR xxxxx (sufficient to hold the whole program) L0020 CALLM #q(:;&, AE) - e
#EDIT . )
L0030 RETURM
{BREAYS {BREAK>
#*NEW
*#POKE 209,72 Jos Vandebergh
A0 90 00 09 00 00 00 C5 DS ES F9 ER ZA 00 03 44 4p
: T ER 54 9 S5 ES € = 03 23 23 23 23 ET 23 2
SORTING by simple comparison in machine §§3 gg gg o 52 ff;; b Lo b as 3 zf 32 o Es s s
languace {from DAInamic 19, p370) Copyright Christian POELS ~ 2746783 330 34 02 03 9E FA 3C 03 54 =D m}' éF-‘? 03 0F E1 },é E:}.
The program below sorts a series of items from a set or a whole table. The sorting can be gﬁg E§ iz 23 E;g: ;‘,? ;i ;;E zg 12 ‘i? ;’;3 1a AF ?E‘ 31 12
performed on the complete table or only on part of it. The number of items to be sorted must : - P :l‘ ,l,q £o o o F’“ - : A A4F _?E ?l ii £3 51
be stored at the addresses #200 and #301 and the call to the routine is made in the following g?g g:: ;% S% 6‘; f;,‘; ?g 3}, Ei g; }E; §§ éi gr‘; g‘; 2? ,‘;S
way: - :—. A ~ L% S A » £ £ S - - ) O o]
CALLM #306,NAME OF TABLE  (INDEX OF FIRST ITEM OF THE SERIES) 980 2E L7 00 00 00 00 00 00 00 G0 00 00 00 00 00 00
If a table has to be sorted, we need to know that all its items are stored in the memory, line
by line, Thus, the items too will be sorted, line by ling,
To try out the example, type in the machine code and the basic, and record them on taps.
RESET, Alter the pointers tpo}
POKE #298,0: PFOKE #29C,4; CLEAR 1000, Load the machine code. NEW, Load the basic.
RUN, In this example, the sorting is done for a set of 2546 items whose values are all between
=300 and 300, The sorting in itself takes about & seconds. Here are some examples of time PAGE 89 ~-— ADC CONVERTOR
taken)
_ _ @780 PRINT "DRUE OF DE SPATIEBALK OM
No. of jtems: Time {sec.}} VERDER TE GAAM. . "
160 1 0285 IF SPi=1.@ THEN CURSOR 235,2:PRINT
20 i SPC(19) : CURSOR 25, 2:PRINT 413" ¥.":
3 8 CURSOR 25,2
i 13 30290  SPi=i
aH 23 30350 G=BETC: IF G<»32 BOTD 3048256
&8 K7 IB350 POKE #735,95: Dib=0: GOSUR 2019¢
1000 89 30509  RETURN
1508 9 '

aFH
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lin PASCAL. FORTRAN. C or COBOL

Oid you ever thougt to program your 'O

hat’sr about having a farst Floppy rystem for your DAl PC with 24 of rtorage ?

DAlstar is an expansion system that THE CP/M OPERATING MODE

makes yvour DAI a pr ofessional PC. Now you have full access to TURBO PASCAL, FORTRAN, C, COBOL, MBASIC, FORTH,

. . ADA and th ing 1 . WORDSTAR, MAILMERGE, SPELLSTAR,
You simply connect it to your DAI - © DBASE, MULTIPLAN and a1l other CP/if programs will rum on the DAlstar system
&ﬁd jUSt y@u have tW@ without any restrictions.... ’

All these pregrams are running up to 5
o times faster than on the DAI PC.
computers In one 1!

This is done by the DAlstar's integrated
computerboard with a fasi Z80 CPU, 64KB
of RAM and a lot of other features.

THE FLOPPY MODE

You work with your DAI as ususzl,
A small disc—operating-system
{D0O8) is loaded into the memory

ati power on. It extends the DAI-
BASIC by 32 new instructions that
are really programmable and allow
vou a comfortable filehandling.

The DOS doesn’'t only support loa~-
ding and saving of all kinds of
programs — it offers you the possi-
bllity to work with pictures, text
files, ML-programs and random access
files with variable record length.

At the same time your DAI PC is working
as a colour graphics terminal that even
supports sound capabllities. In conse-
quence of the parallel processing drawing
complex plictures iz much faster than on
a single DAL

This parallel processing even allows to
load 2 ML-program Into the DAI and to
run it in the background.

New instructions allow you to draw lines,
circles, circle sections, polygons and to
fill whole areas. It's easy to draw com~
plex graphics and complete them with text
in different fonts, scales and colours.
That's even possible at & resoluticn of
612°240 pixels. And when vour picture is
finished you can store it onto disc with

a singie command.

Since the disk format is the same
as in the CP/M mode, yvou can exchange pic—
tures, textfiles and ML-programs between the two modes.

Te be as compatible as possible with the existing DAI software, we
have made the DOS very small {( 1,8 KB }, And an even smaller and moveable
TINYDOS allows you to run nearly all existing DAI software without modifications. The text mode is supported by a virtual

screen that can be configured to a logi~

The DGOS supports a cassette recorder, 2 MDCR and allows the use of DCE-bus peripherals. cal size of up to 120°120 characters. This
_ method allows you to use every screen size
To meet the needs of assembly language programmers we integrated an assembly language initTface you like. The visible window moves across t.
that allows the use of DOS commands from assembly language. Sector read and write command® 8llow .
the direct disc access. _ Getting CP/M software for the system is
quite easy since DAlstar is able to read the
. Last not least you won't have storage problems any more with your disk storage of up to 2,4 MBytes formatted. wide spread OSBORNE I disc format.
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Intrested ? Then please request our free
informationsheet with a detalled descrip~
tion, prices and options.

DAIstar, K.Peter & R.Schillinger

Neubriach 13, 7982 Balenfurt, GERMANY -

This document wae written with WORDSTAR on & DAl with DAlster

G B &

brings

Al up to date. ..




